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I made a B+ in this class.

I. Economic and Non-Economic Perspectives
a. The economic perspective
i. Normative goal of the economic perspective:  maximize social welfare.  Environmental regulations justified only if they increase welfare of benefitted parties more than they decrease welfare of burdened parties. 

1. Goal isn’t to reduce pollution to the lowest possible level, eliminate adverse consequences of pollution, etc. but rather to maximize social welfare.  A reduction in pollution is socially advantageous only if it increases the welfare of the benefited parties more than it decreases the welfare of burdened parties. 

ii. Postive/descriptive aspect:  divergence bw polluter’s private costs and the social costs imposed by his activity.  If a polluter is not required to “purchase” goods like air, clean water, etc., then others will bear the costs of his activities. 

1. What are private costs?  Inputs (labor, iron, energy, etc.).  

2. What are social costs?  The pollution you emit into the air (essentially, you buy clean air).  This doesn’t cost the polluter, but it does cost someone.  Rational polluter will not self-regulate:  will produce through mix of inputs that maximizes profit. 

a. External costs (externalities)

b. Social object of regulation often described as internalizing this externality.
iii. Attitudinal aspect:  Does not view pollution as morally wrong, but rather as a natural result of the pursuit of self-interest by rational actors. No moral valuation of pollution.   Not necessarily that economic perspective values free market over regulation.  Quarrel here is with the regulatory scheme that does not monetize this activity.  

iv. Why regulate?
1. Distributional adjustments

2. Workplace context:  bargaining is possible w/perfect information.  Correction of informational asymmetries.  
3. Internalization of externalities. 
v. Key concepts
1. Tragedy of the Commons
a. Rational actors seek to maximize individual gain.  Increasing exploitation of a common resource has a concentrated benefit to the individual, but only a diffuse cost.  Thus, he’ll do it.  

b. Why don’t they self-limit?

i. Risk of cheating

ii. Difficulty of enforcement

iii. Problems of communication

iv. Three problems

1. Free rider problem

2. Strategic behavior

3. Transaction costs

v. Transaction costs may be higher than benefit one gets from agreement

1. Identifying interested parties. 

vi. When would agreements be made?

1. When you can identify parties

2. When you have repeat players

3. When the set of parties is limited

4. When the parties have social/community relationships

5. When you can price the good

vii. When are resources not amenable to these types of agreements?

1. Ocean best example.

viii. Solutions:

1. Taxation

2. Privatization:  there are resources that can’t actually be privatized; costs associated with privatization; not every resource may be sufficiently productive to justify that cost.  

3. Unitization (cooperative approach):  lots of infrastructure; shirking; free riding, etc.  

2. Prisoner’s Dilemma
3. Logic of Collective Action
4. Public Goods
5. Externalities
vi. Pollution under Coasian bargaining
1. Reciprocity:  Coase views pollution not as harm caused by the factory to the laundry, but as a reciprocal burden each imposes on the other. 

2. Invariance claim:  it doesn’t matter who has to pay.  

a. Only invariance as to the level of pollution produced by the bargaining.  

3. Efficiency claim:  Place you end up is the efficient place

4. Role of transaction costs:  These assumptions depend on no transaction costs.  This only works if transaction costs are sufficiently small.  

b. Non-economic perspectives
i. Ask Amy, Isaac, etc. about the take-away from this. 
II. Risk Assessment and Risk Management
a. Risk assessment
i. Hazard identification:  how do we know that a substance has adverse consequences on public health?

1. Epidemiological studies: population studies

a. Expensive and difficult, often sample sizes and data sets inadequate.  May not have control groups or know dosimetry.  Often looking at catastrophic events with very high doses.  

2. Toxicological studies: 

a. Comparability of humans to animals, what animals can you use (rats but not monkeys, because monkeys are cute!), exposure to high doses (you need fast results, and you need to give them cancer before they kick off of natural causes).

b. Start off with a maximum tolerated dose (MTD)—need to know how high a level they can take without kicking off. 

i. MTD/2, MTD/4—levels

3. Dose-response evaluation

a. Non-carcinogens:  assumption of threshold level. Goal of studies is often to find what that level is.  Work in bands, so you start with a high concentration and work your way down.  

i. LOAEL:  Lowest observable adverse effect level

ii. NOAEL:  No observable adverse effect level

iii. Threshold is somewhere bw these.  NOAEL used as the threshold; if you want a no-risk standard you add a margin of safety. 

b. Carcinogens:  What we’re really interested in regulating is the left-hand side of the curve, but we can’t test for it, so we have to extrapolate from right-hand side.  No-threshold model:  we assume that any exposure = risk.  

i. Least-squares regression to extend the line left.  Assumption that this is linear, though opinion is not unanimous.  

c. How do we deal with margins of safety in these contexts?

i. 95% confidence level as upper bound.

ii. So the linear line is the MLE (maximum likely estimate), but you don’t use this to regulate.  You use the upper confidence limit (UCL), which is typically 95% but could be higher.  

d. Very much a policy-based process:  whether or not something will be treated as a threshold contaminant, whether or not to use linear modeling, how conservative to be with confidence levels and margins of safety—these are policy decisions, not scientific decision. 
ii. Exposure assessment:  who is actually subject to what concentrations?  

1. Aggregate population risk

a. For different exposure levels, how many people are going to be affected. 

2. Maximum Individual Risk

a. The person most affected by an increase in level of this compound, whether due to their exposure level or their sensitivity. 

b. If sensitivity is uniform, then MIR = risk to Maximum Individual Exposure (MIE). 

iii.  Risk characterization:  final determination of the 1/xxxxx risk of death. 
iv. The Benzene Case:  
1. Facts: OSHA lowered limit from 10 ppm to 1 ppm.  There was some evidence that risk existed bw 1 and 10 ppm, though it wasn’t systematic.  OSHA shifted burden to industry and required them to prove that anything about 1 was safe. 

a. Went to 1 ppm because they believed that was the lowest feasible answer without destroying the industry.  

2. Statute: OSH Act:  § 6(b)(5),  “standard which most nearly ensures, to the extent feasible, no material impairment of health.”  Zero isn’t feasible; 1 was the most stringent number that industry could meet.  

3. Why didn’t the court defer to OSHA’s decision?

a. “Significant risk” issue.  Wants a finding that 10 ppm poses a significant risk.  Need dose-response model (quantitative risk assessment) of the 10 ppm risk.  Then you have to say that this is “significant”.  However, SC does not define, in this case, how you determine “significance”.  

i. Ordinarily, court will defer in situations of scientific uncertainty.  Political branches, not the Art. III courts prevail in those circumstances.  

4. Sup Ct wanted the agency to find that 10 ppm posed significant risk.  Statutory hook: “reasonably necessary or appropriate”, § 3(8).  Definitional provision.  But wouldn’t it have made more sense to use “material impairment of health”?    

a. § 6(b)(5) tells you at what level the standard should be set. 

b. Clear intent of Congress question (this is pre-Chevron).  

b. Risk management
III. Regulatory Tools and Distributional Consequences
a. Command and control regulation
i. Typically takes form of BAT standards.  

1. Regulatory standard set by reference to BAT.

2. But different systems are possible:  NAAQS.

ii. Set stricter limits on more prosperous industries, those with less competition or fewer substitutes.  

iii. “Best” available technology means best you can get w/o destroying the industry; may destroy individual firms. 

1. Benzene case, frex.

iv. BAT standards, generally

1. Equipment/design standards:  require a specific technology
2. Performance standards: this is the best tech.  You don’t have to get it, but whatever you do, your emissions can’t exceed those from the BAT.
3. Which would a firm prefer?  

a. Performance, probably, because it gives you more options. You can use BAT; you can use something else.  You have the ability to choose a cheaper way.  Maybe you can just burn clean coal.  No need to wait for new technologies to be approved.  

4. Who might prefer a design standard?  

a. Regulators.  It’s easier to set this standard.  It’s easier to enforce.  BAT standards are generally set w/reference to input/output, so you actually have to be measuring a proportion.  

5. Advantages of a design standard:

a. So possibly that standards won’t perform:  how do you ensure that they’re doing what you want?  You’ll still have to check the emissions.  

b. Maybe create a national market for this thingy? If there are high returns to scale.  But would this outweigh the cost of using a more expensive way of getting to the desired emissions level? 

v. Disadvantages of command and control/BAT regulation

1. No incentive to drop below BAT.  Not only no incentive for firm to use it, no incentive to do the R&D.  

2. Misallocation of pollution control burden.  

3. Ignore variations among plants and industries, therefore wasting money

4. Penalize successful and new products and processes.  New sources are not at risk of shutdown, because they’re economically healthier, must run a lengthy gauntlet of approval processes which discourage investment, place stricter reqs on successful businesses because they can bear them. 

5. Provide a lot of points of legal vulnerability, making it often more cost-effective to litigate than to comply. 

6. Doesn’t allow an agency to set intelligent regulatory priorities. 

b. Marketable permits
i. How they work:

1. The regulator’s role:
a. Defines the markets, sets the aggregate pollution level.  

b. Initial allocation.  

c. Registers transactions.  
2. Allocation

a. Initial auction.  What’s good about this?  

i. Agency incentive to pay. 

ii. Doesn’t favor existing over future firms.

iii. Most economists like this better.  

b. Grandfathering existing polluters.  

i. Hurts later entrants.  Barrier to entry. 
ii. More politically palatable.

iii. Most common method bc of (ii).
3. The first unit sold:  what would the firm think about when deciding to sell a permit?  Cost of reducing pollution one unit. 

4. Buyer?  Cost of reducing pollution versus cost of one-unit permit.  

5. When will the trades end?  When the cost of reducing one unit more exceeds the cost you could get for the permit.  You’re down to the more expensive ways of doing it.  Decreasing marginal utility w/regard to pollution reduction. 

a. Buyer’s perspective:  when price of the permit equals cost of reducing pollution.  Marginal cost of pollution reduction equalized across sources, price of the permit equals cost of reduction for each one.

i. Thus, total costs are minimized.
6. Once you’re at equilibrium amongst existing players, what happens?

a. New producers enter.

b. Someone wants to up output.

c. Deteriorating equipment 
ii. Benefits of marketable permit schemes

1. Incentive to innovate:

a. So long as the price of the permit exceeds the cost of a new technology, it’s worth doing.  It’s almost like you get into the pollution-reduction industry. 

2. Eliminate the information-processing tasks agencies face
a. Wouldn’t have to determine what the BACT was, the busineese would do that. 

3. Free up financial incentives and would raise money when permits are sold at auction.  

4. Do away with failure to enforce.  
a. Companies’ expectation of enforcement would influence the price that they pay for permits; failure to enforce would leave to lower auction revenue, therefore it would become a priority. 

iii. Disadvantages of marketable permits
1. What happens if non-industry players buy permits?

a. Input monopolies!  FTC gets involved.  Antitrust fiesta! Not plausible that it would reach a level where the impact on the market would be significant. 
2. Hot spots:  
a. BAT might not address it, but marketable permits definitely don’t. 

b. Say you have nine sources in a jurisdiction, ambient standards, each polluting ten units. 90 total units.  Then you go to marketable permits and they all get 10 permits. Trading occurs, one firm has 81 permits, the others each have one. 

c. Are we better off or worse off?  Costs have been minimized.  But it depends on the curve of the pollutant.  What if it’s no-threshold?  If it’s convex, we’re worse off because every unit added at the top dramatically increases harm.  If it’s concave, then the rise in harm comes early.  

d. In a BAT w/out ambient standards, there could be hotspots, but the claim is that marketable permit schemes exacerbate the problem. 

e. So weakness in Ackerman/Stewart argument is that it doesn’t account for the disparate environmental impacts of this (they want to do away with ambient effects as well). 

f. Remedies for the hot spot problem
i. Ambient standard overlay.  So trading area would have to be larger than attainment area.  Govt. uses mathematical modeling to figure out impacts everywhere else of pollution at one point.  You could do this through a website!  

ii. Size of markets.  

iii. Market in units of environmental degradation.  Problem is that you have an impact at an infinite number of points.  Plus, you have an impact in multiple markets. 

g. This only matters for local pollutants—where the effect is concentrated in the area where the pollutant is emitted.  Regional/global pollutants different.  
iv. The moral dynamic

1. Are marketable permit schemes a morally undesirable “license to pollute”? 

2. [this is only an issue if you treat all pollution as a moral ill.  if the only “bad” pollution is overpollution, then you don’t have this problem]

3. W/marketable permit schemes, you can pollute a lot more—you don’t have to reduce at all—so long as you can buy permits.  

4. The aggregate v. the individual plant’s behavior.  

v. Should environmental groups be able to buy marketable permits? 

1. Depends upon how the level of pollution allowed was set.  

a. If agency tries to figure out the optimal level of pollution, then allowing ppl to take them out of circulation damages the social calculus.  

2. If someone tried to buy up all of them, the danger is that the government would just issue more

3. Risk to national productivity. 
c. Effluent fees
i. Markets v. taxes
1. If you want to hit a specific performance target, then marketable permits can get you there easily.  But while the government may make guesses about the relationship bw taxes and level of pollution, you can’t be sure with effluent fees. 

a. What’s the benefit of having a clear level of allowed pollution?  

i. If there’s an identifiable threshold, frex.

2. A tax/effluent fee-based system will lead to an equilibrium level of pollution eventually. 

ii. When a tax might be preferable
1. When there are high transaction costs in trading permits.  In tax system you have to measure emissions, create collection system, etc.  Remember, though, that you’ll have to measure emissions no matter what.  Experience w/running tax systems hasn’t been that great.  

2. When you want to generate money for the government.  Do we want this to happen? Presumably, taxes would be lowered elsewhere.  Do you prefer the govt to tax to internalize externalities, as opposed to some other way? 

a. You could do this by initial auction as well.  

iii. When a tax would not be preferred
1. If an industry is struggling. 

2. In order to get support from existing firms, you’re going to have to do this in a way that doesn’t impose initial costs. 

3. Political support issues.  

iv. Problems:
1. Cannot be certain that effluent fees will lead to an optimal level of pollution

2. Continuing inflation will erode costs and prices will have to be reset; this is a pain in the ass.

3. May cost polluters much more than other regulatory schemes. 

a. Permits subject to same problem bc of initial auction costs; you can avoid this by making initial allocation free. 

4. Effluent fees aren’t sensitive to geographic distinctions

5. Marketable permits familiar

d. Deposit-refund schemes
i. Good in cases when it’s very hard to enforce a disposal requirement (like for batteries)

ii. Why not just have a tax?

1. In the case of batteries, a deposit-refund scheme can ensure that you’re paying for proper disposal, rather than amelioration.  You don’t want to create a disincentive for using the battery, but rather for disposing of it incorrectly.  

2. So why don’t we have one for batteries?  

iii. How do you set the optimal level of a deposit-refund scheme?

1. Issue of what upfront investment a purchaser can afford. 

2. How easy is it to return the item?  

e. Liability rules
i. Incentive based on likely exposure to legal risk.  Amount of expected liability.

ii. Problem:  not all harm will produce a lawsuit. 

1. Company may be out of business or insolvent.  Or might declare dividends and put money in the hands of the shareholders.  Law cannot get at this, though it can get through to parent companies.  Law in the US does not reach shareholders.  

2. Harm doesn’t show up for a long time, no signature disease, collective action issues, causation problem, etc.  

a. Causation difficulties

i. Probabilistic liability

ii. Market-share liability

3. Timing:  statutes of limitations and how they are construed.  Can statute begin to run at the time of the discovery of the harm? 
4. Poor incentives for litigation:  high costs, low individual benefits

iii. Attacking solvency issues
1. You may be able to pierce their corporate veil if they’re organized this way, but they usually aren’t. 

2. However, not all companies are going to be willing to operate under the structural constraints necessary to protect themselves from liability in this way.  Signaling long-term presence—not everyone’s willing to go bankrupt.  

3. Insurance.  You can mandate insurance, or you can just depend on the market. 

4. Bond.  This is requiring in some circumstances for hazardous waste companies.  

f. Informational approaches
i. What is the best context for using informational approaches as opposed to something else? 

1. When the employee/user/consumer would be able to avoid the harm with proper warning.  

2. When the consumer would be able to rationally choose among different levels of risk because the increased risk would be worthwhile to them in certain circumstances.  Honor people’s risk preferences within a certain range. 

ii. Problem is that people ignore warnings.  Construction of appropriate warnings.  
IV. Federalism and Public Choice
a. Federalism issues
i. Interjurisdictional externalities (spillover)

1. Jurisidictions don’t care about the harms imposed upon other jurisdictions.  They gain economic benefts from having the particular industry in their jurisdictions, and they only see some of the costs.  

2. How strong is this argument?  Jurisdictions have been found to play around with pollution in order to try to send the impact out of their borders.  Increased stack height.  

3. Example of clean air regulation:  we have two types of standards, ambient and emissions. 

a. If you’re going to use ambient standards, you’re probably going to need federal standards because it’s hard to prevent other jurisdictions from violating yours. 

i. You need some sort of allocation mechanism for figuring out who can meet them more cheaply if you want to use caps. 

b. Emissions standards:  because these don’t limit aggregate pollution, you may still have suboptimal transboundary effects.  

4. Interjurisdictional spillover is frequently given as a rationale for federal regulation, but the existing federal mechanisms don’t actually do a lot to take care of this.  Unless it’s actually effective, can it really be a good reason for federal regulation?  

ii. Race to the bottom

1. Need to drop environmental standards in order to attract industry.  So jurisdictions will compete until they reach an equilibrium point at which dropping regs further wouldn’t yield sufficient benefits to justify the cost.  

a. They do it in a way that’s not socially optimal, leads to suboptimal standards. 

2. States can extract more from industry if they can collude.  Why do we want to allow states to collude?  

3. Role of mobility in this issue.  Tiebout theory.  

4. Why Ricky doesn’t like these arguments: states compete not only in terms of environmental regulation but in other areas as well.  

a. If you mandate environmental quality at a certain level, states will probably compete in other areas.  This will probably hurt social welfare programs.  A lot of arguments about the race to the bottom center on other issues (interjurisdictional competition, for example) in the end, and the race to the bottom issue doesn’t really add anything.  

b. In the end, however, competition will not necessarily lead to suboptimally lax regulation.  It depends on where the bargaining power is.  States can and do regulate too strictly.  NIMBYism.  

iii. Economies of scale

1. National standards lead to economies of scale in production processes, as opposed to having to hew to fifty national standards.  

iv. Quasi-constitutional argument

1. As citizens of the United States, you have a right to a certain level of environmental quality that your state can’t take away from you.  Analogous to your right to vote.  

v. Self-determination (differences in preference)

1. States have specific preferences and needs that are best managed by state-level legislation.  Regional differences outweigh party differences according to Ricky’s empirical research.  

vi. Differences in cost

1. May be very expensive for a state to reduce pollution to the level mandated by a national standard. 

vii. Differences in benefits

1. Low-population state, for example—benefit of reducing the harm is much lower, because population density is so low.  Climate might be different (very hot or very windy states).
b. Public choice
i. Environmental groups are more easily represented at the national level, due to the high costs of information and of passing state-by-state laws.  Industry groups also operate at the national level.  

ii. If you see environmental regulation as a product of a clash between environmental groups and industrial groups, why do we actually get environmental regulation at all? 

1. What about free-rider problems?  You have heterogenous interests in the environmental community, you have a big aggregation, etc.  

2. However, environmental groups may have great economies of scale in organization.  It would be hard to participate in legislative process in the fifty states, but they might be able to get the resources together in one situation.  

a. What about money?  Maybe you need a certain threshold of money to be effective, and once you’re past that you’re not that much more effective. 

i. In some cases, this holds true, and in others it doesn’t.  The more you can contribute to campaigns, the better you likely are.  
V. The Clean Air Act
a. Criteria and hazardous pollutants
i. Criteria pollutants regulated under § 108-109 (p. V-24).

1. Pollutants that reasonably may be anticipated to endanger public health or welfare

a. Are present in the air due to numerous or diverse mobile or stationary sources. 

b. For which air quality criterio had not been isseud before enactment of the CAA, but for which the Administrator plans to issue criteria.

2. Once listed, Administrator has 12 months to issue criteria.  Criteria are “technical documents that identify the public health and welfare effects of the pollutant” (p. II-1).  
3. When CAA passed, criteria had been promulgated for sulfur oxides, PM, CO, hydrocarbons, and ozone.  Nitrogen oxides added in 1971; Pb after citizen suit in 1976.  No additional criteria pollutants have been added.  

ii. Hazardous pollutants under § 112. 

1. 112(b):  Initial list of hazardous pollutants

2. Can be revised, but you can’t add criteria pollutants to this list. 
b. NAAQS (§ 109)
i. Administrator to issue primary and secondary NAAQS simultaneously w/issuance of air quality criteria.  

ii. Administrator to propose NAAQS for pollutants for which air quality criteria were issued before CAA.  

iii. Primary NAAQS:  set at a level which, in the judgment of the Administrator and based on the air quality criteria, is requisite to protect the public health and allows an adequate margin of safety.  § 109(b)(1)
iv. Secondary NAAQS:  set at a level which, in the judgment of the Administraator and based on the air quality criteria is requisite to protect the public welfare from any known or anticipated adverse effects associated with the presence of such air pollutant in the ambient air.  § 109(b)(2)
1. Welfare:  effects on welfare are effects on soils, water, crops, vegetation, etc., weath, visibility, climate, property, hazards to transportation, effects on economic values and personal comfort and well-being. § 302(h) (general provisions) (p. V-276)
v. Key distinction is between public health and public welfare.  Welfare covers a wider range of things, including economic stuff—basically, everything except people.  People fall into “public health”.  
vi. Basically notice-and-comment rulemaking

c. State Implementation Plans § 110 (V-29)
i. Generally:  “an experiment in cooperative federalism:  the federal government provided a goal for air quality and the state retained discretion to achieve that goal in a manner consistent with state and local priorities.”  (II-28).  
ii. Required elements of a SIP: § 110 (a)(2)

1. Must contain enforceable emissions limitations, enforcement programs, interstate control measures, emergency powers, and nonattainment and PSD plans. 

iii. Approval of a SIP (§ 110(k)):  Adminstrator must approve the plan if it meets the requirements; if not, a disapproval of a part counts as a disapproval of the entire plan. 
1. Measures exist for conditional approval, which converts into disapproval if the conditions aren’t met. 

iv. FIPs:  Administrator must promulgate a FIP within two years of the disapproval of a SIP, unless the state corrects the deficiency.  § 110(c).

1. If the Administrator finds that a SIP is inadequate to attain or maintain the NAAQS, then she can issue a SIP call, which apprises the state of the deficiencey and requires a SIP revision.  State has 18 months.  § 110(k).  

v. Union Electric (1976) (II-29)
1. Is EPA required to consider feasibility of a SIP during the approval process?

a. UE’s statutory argument:  “as expeditiously as practicable” means you have to consider feasibility

i. Court doesn’t buy this—that phrase just means that you achieve the goal faster than three years if doing so is possible

2. Are states permitted to set SIPs that are more stringent than the NAAQS?

a. Court sez:  Look at § 116—they’re allowed to set stricter standards if they want to!  Why not let them do it through the SIP?  

i. Why is § 116 in here?  Federalism.  If states want to have stricter standards, they ought to be allowed to—it doesn’t harm other states in the way that having a weaker standard does.  

ii. Exemption for vehicle standards, except in cars—there is preemption of auto regulations, except in CA. 

b. Why might it be easier for a state to promulgate stricter standards under a SIP than under state law?

i. They’re a bit insulated from local political processes—they’ve already got to make the plan, so it’s easier to move from that to a stricter standard.  

ii. Makes enforcement by private plaintiffs easier—because they’re violating federal law and can thus be sued in federal citizen-suit actions. 

iii. What about enforcement by the government? Fedgov and state can both enforce the SIP.  
vi. Coalition for Clean Air v. EPA
1. Facts:  South Coast Air Basin case.  No SIP for parts of sourthern California despite years of litigation.  Dirtiest air in the country.  CA put for a series of SIPs that the EPA didn’t approve.  

a. EPA had withdrawn previous proposed FIPs because of the economic dislocation they would cause—your worst case is always that you’ll do something that will piss people off and the CAA will get repealed.  

b. 1988, plaintiffs field sued and won; EPA promulgated a FIP and planned (eventually) to finalize it by 1991.  

2. Then the CAA Amendments of 1990 came around.  Did this “reset the clock”? 

a. 1990 Amendment extended the time period to meet the standards for CA (“extreme area of nonattainment”) to something like 2010.  “Reasonable further progress” to be made.  

3. When a SIP is disapproved, when is the federal requirement to publish a FIP triggered? 

a. 110(c):  the Administrator has two years from the time he disapproves the proposed SIP or finds that they haven’t submitted it.  

b. Their last SIP was disapproved in January 1988.  

4. So they did eventually get it done—EPA made a FIP.  Then Congress wiped it out in a Defense appropriations rider.  

5. Constitutional problem with FIPs:

a. Can the fedgov require a state to pass a law?  No.  So EPA can’t, as part of a FIP, “commandeer” a state legislature.  10th Amendment.  Generally, the SIPs aren’t considered commandeering because the feds will regulate if they don’t.  Conditional funding is okay as well.  An “option” for states, as opposed to a requirement.  

b. But if a FIP requires a state to legislate, that’s different.  The fedgov can directly regulate individual polluters, but can’t mandate state legislation.  
vii. PSD

1. Should air quality be allowed to degrade in pristine regions? Starts at § 160 (p. V-118)
2. Ambient component: a federally set baseline (169(4)) and an increment, which is set through a combination of federal and state programs.  Program allows some degradation, but it does constrain it.  

3. Emission component:  BACT, which applies to new major emitting facilities.  Standard set via combination of federal and state decisions under 169(1)(4).  
4. Sierra Club v. Ruckelshaus
a. Led to statutory establishment of the PSD program.  

b. Plain language argument: the Act authorizes EPA to “protect and enhance the quality of the Nation’s air resources.” 

i. Basic purposes of the act under § 101(b).  “On its face, this language would appear to declare Congress’ intent to improve the quality of the nation’s air and to prevent deterioration of that air quality, no matter how presently pure that quality in some sections of the country happens to be…”

1. You could actually read this to require improvement from everyone:  “protect and enhance.”  

ii. Why is this a weak statutory argument on its face?

1. For some statutes, this might work better, but the CAA is a very complex, technical statute—relying on a general preamble doesn’t seem very sensible.  This is a detailed regulatory regime.  

iii. A statutory argument on the other side that Court didn’t look at:  where’s the obvious place in the statute?  § 110:  the SIPs.  Wouldn’t you expect the section to set standards for SIPs that required prevention of further degradation?  This is the section that tells you what states have to do to come into compliance with federal ambient standards.  Why find this by implication when there’s a logical place for it to be?  

c. Legislative history:  

i. Administration officials testified before Congress that deterioration would be barred

d. Legislative history:  
i. Senate Report accompanying the bill that was eventually adopted stated that they understood it to bar SD.  House Report less clear but doesn’t appear contradictory

1. But how authoritative is this?  It reads as a complete restraint on any degradation (“continued maintenance”).  If this were in the statute, it would be pretty dispositive!  But conference report is always more authoritative.  Even though the Senate’s bill became the act, all this really means is that the final bill had the Senate number, not the House number. 

e. Administrator:  has remarked that he believes the act to allow SD.  

i. Rules are contradictory

ii. Remember that this is pre-Chevron.  In a Chevron world, this would be a strong argument for not deferring to the agency at all!  

f. The part of the Rules allowing SD is “contrary to the legislative policy of the Act.”  
5. The PSD permitting program:  

a. Circuit court aff’d, and SCOTUS aff’d w/o granting cert.  EPA then had to create a regulatory program based on the district court’s opinion.  Program was subsequently codified in a very similar form in the 1977 Amendments
i. How much degradation was the District Court prepared to allow? Less than the secondary standard.  No more specific guidance available.  “Non-degradation of existing clean air.”  
b. Zones:  Classifies country into three zones (I-III) by how much pollution is to be allowed in each. 
i. Entire country initially Zone II, where deterioration consistent with moderate, well-controlled economic growth was acceptable.  
ii. States could re-classify into Zones I or III.  Zone I typically national parks. States can reclassify to Class I or Class III via a set procedure:

1. effects analysis

2. public hearing

3. notice to affected land managers
4. Governor, legislature, and representative “general purpose unit” of local government have to approve a redesignation.  Keeps a state from imposing this on a county, say.  § 164(a)

5. Fedgov must approve, unless the state didn’t follow procedure or Class I reqs are violated.   

iii. No states have sought redesignation from Class II to Class I, though some tribes have.  Redesignation to a more protective standard is easier than redesignation to a less protective standard.  

iv. No state has ever redesignated to Class III.  Why? Probably local governments would be very unhappy.  Maybe the areas where industry wants to locate are already at a point where the NAAQS are going to constrain you.  Maybe areas are clean for one pollutant but not for others—so say you can’t degrade further for SOx, because you’re in nonattainment for PM.  Maybe they already get a lot of what they want from Class II designation. Maybe NSPS is 
c. New Sources: Strict requirements on new sources in PSD areas; both emission and ambient requirement (BACT+ standard)
i. Had to demonstrate case-by-case compliance with BACT
ii. Had to do a source imnpact analysis to determine that “maximum allowable increase”  wouldn’t be violated
iii. “Top-down BACT”: EPA establishes a ranked list of control technologies and sources must take the top one unless they can demonstrate that on grounds of technical, energy, environmental, or economic impacts, this standard is not achievable.  
iv. Difference b/w NSPS and PSD BACT:  case-by-case determination  Thus PSD probably stricter.  Also, in some cases, an NSPS for that type of plant might not exist.  
d. Baseline:  § 169(4)  Baseline is set when someone applies for a permit for a major emitting facility in an area subject to that part.  Defines current level of air pollution and provides basis for increments
e. Major emitting facility § 169(1):  Facilities that require a permit from the state if they wish to locate in a PSD area. 
i. “New” definition comes from NSPS:  § 111(a)(2):  any stationary source, the construction or modification of which is commenced after the publication of regulations.

1. “Modification” (§ 111(a)(4)):  physical chance in, or change in the method of operation of, a stationary source which increases the amount of any air pollutant emitted by such source or which results in the emission of any air pollutant not previously emitted.

f. Increment:  amount of deterioration toward the NAAQS authorized for a particular attainment area.
i. PM and SO2 increments set by Congress
ii. EPA has also set incremetns for NO2, but not for CO or hydrocarbons, which are primarily regulated via mobile source tregulations elsewhere in the statute. 
iii. No increment for ozone, which ic controlled via control of its precusors
iv. EDF v. EPA:  EDF challenged the increment for NO2 on the grounds that EPA had merely set the same percentage increment as for SO2 and PM.  Court said that this was a “contingent safe harbor”, but that an analysis under 166(c) was also required.  In the end, EPA promulgated the same rule and allowed states to use alternative means of control, such as cap and grade under the CAIR.  
g. So what happens if nobody asks for a permit for a while?  Before the baseline is set, there’s not limit on degradation.  
i. Lots of sub-MEF plants built

ii. Pollution from other areas.  Until baseline is set, they can’t do anything about this! 

iii. Why might it take a long time for an MEF to apply for a permit? 

1. NAAQS are essentially irrelevant:  areas under PSD can’t degrade to the NAAQS, areas under nonattainment have lower interim standards.  

2. No economic growth in the area.  No local need for what they might produce, or no workforce/infrastructure available. 

h. The NAAQS and the increment:  
i. How are the increments related to the NAAQS?  For Class I areas, roughly 2% of the NAAQS.  For Class II areas, roughly 25% of the NAAQS.  For Class III areas, roughly 50% of the NAAQS. So the designation makes a big difference.  

ii. SOx: NAAQS are 80.  Increment is 20.  Will constrain only where the baseline is below 60.  If baseline is higher than 60, NAAQS prevent you from going over 80 in any case! 

1. So lots of areas w/air quality better than the NAAQS won’t experience additional constraint due to the PSD program.  

2. How are non-MEFs constrained?  § 110(a)(2)(D)(ii)  SIPs have to show how the state will take steps not to violate the PSD.  That means states have to manage degradation from non-MEFs as well.  
3. the real constraint.  
iii. Alaska Department of Environmental Conservation v. EPA (2004):  Cominco owned a zinc mine in NW AK.  Powered by diesel generators.  Subject to a PSD permit for NOX.  Wanted to to increase production on a standby diesel generator.  ADEC applied top-down BACT and proposed one method as BACT; company then proposed a non-top method but wanted to apply it to existing generators as well.  ADEC approved this over EPA objections and a stop order was issued under § 113(A)(5).  Court held that  EPA’s oversight role extended to determining the reasonableness of a state permitting authority’s BACT determination in light of statutory guidelines.  § 113(a)(5) and § 167 give EPA “encompassing” supervisory responsibility over construction and modification of facilities in the PSD area. Court finds that Congress entrusted state authorities w/initial responsibility.  However, EPA has the authority to protect agains unreasonable BACT designations when the state’s decision does not reflect reasoned anlysis. 
d. Non-attainment  

i. What to do about dirty areas?  Starts at § 171 (p. V-134).  
1. Imposes controls on existing sources. In PSD areas and other areas, states are allowed to make decisions about whether or not they want to control existing sources, but in nonattainment areas, they’re not. 
ii. Permits:

1. § 172(c)(5), permits are required for “the construction and operation of new or modified major stationary sources anywhere in the nonattainment area” as explained in 173 (below).

2. Must show that “sufficient offsetting emissions reductions have been obtained, such that total allowable emissions from existing sources in the region, from new or modified osurce which are not MEFS, and from the proposed source will be sufficiently less than total emissions…so as to represent…reasonable further progress.” § 173(a)(1)(A),
3. Has to comply with lowest achievable emission rate:  “…that rate of emissions which reflects the most stringent emission limitation” in any state implementation plan or is achieved by any source in this category.  § 171(3).  

4. Ricky sez:  distinction bw LAER and BACT isn’t clear.  The offset requirement is a brand-new shiny thing, but this distinction isn’t. 

iii. Specific provisions
1. Statute contains specific rules for certain pollutants.  These were added by the 1990 Amendments.  If your pollutant isn’t covered, you fall back on the general provisions.  
2. Example:  § 181:  Attainment framework for Ozone. 

a. Classifies attainment areas by degree of nonattainment, sets deadlines for attainment.  Marginal to extreme.  Only LA is extreme.  

b. The worse you get, the more onerous the requirements. Offset ratios are stricter (so normally, you just need to reduce more than you’ll add)—specify a ratio of reduction for new sources, frex. 

c. So you benefit from having more time, but the conditions are much tougher.  
iv. CARE v. EPA (1981 (72)

1. Facts:  factory secured an offset for its emissions by getting the VA highway department to switch to a different type of asphalt in some of its highway districts. 

a. But the state had already switched to this type of asphalt in most of its districts.  Is this real “reasonable further progress”?  Argument is that the program was voluntary previously, and now it’ll be compulsory.  

b. Presumably it’s less expensive to switch to this than to install control technology 

v. Example: a factory on the verge of bankruptcy can now “sell” the fact that it’s going to close. 

1. You’ve actually gained pollution. 

2. How do you calculate the amount of the offset  However much you were emitting at the time of the sale?  That creates an incentive to produce more right before you shut down.  It looks like that actually happened in CARE v. EPA:  the year they picked was the year that they used the most asphalt.  

3. How can you fix this program?  Set a universal baseline, for one thing.  Have to manage the incentives created.  
vi. Chevron v. NRDC (1984) (72)

1. The bubble case:  what is the definition of a stationary source?
a. Reagan administration proposed a “plantwide” definition.  NRDC wanted you to look at a particular unit.  

2. § 302(j), Major stationary source= “any stationary facility or source of air pollutants…”

a. But the definitions section for nonattainment, specifically, does not define a major stationary source.  

b. MEF definition in PSD:  different tonnage requirements.  

c. Why is the court even looking at § 111 definitions?  Because the definition of modification in § 171 is the same as in § 111(a)(4).  Tenuous link.

3. Does the court hold that the plantwide definition is required by the statute?  No.  Ambiguous statutory guidance.  This is where Chevron deference gets developed. 
a. EPA’s interpretation of the term “source” hadn’t been consistent.  Different interpretation for PSD vs. nonattainment. 

b. In nonattainment areas, EPA had taken the more restrictive interpretation:  non bubble concept. 

c. In PSD, it had allowed a bubble-type interpretation.  

4. Can the same term be interpreted differently by an agency in different statutory provisions?  

a. Under Chevron’s admin rule, it seems like you could interpret it in light of the specific programs created by the statute.  

5. Why did the Reagan administration want this change?

a. Create an incentive for big units to be built w/o having to comply w/NSPS.  Plus, then you will potentially get ramp-up of emissions from existing facilities prior.  

6. But isn’t this inconsistent with the purpose of the nonattainment provisions?  It may not clash with the statutory language, but it’s in collision with the purpose. 

a. What’s the most charitable construction?  The statute’s about a tradeoff bw economic growth and environmental improvement. 

b. Reagan administration might claim that these regulations would be so burdensome that you’d never get a new source. 

c. Structure of the environmental laws tend to “enormously” privilege existing sources.  Big barrier to entry:  new plants would have to get a permit!  Restricts economic growth, to a certain degree. 
vii. Difference between bubbles and offsets
1. Offsets can move bw owners, bubble is a unitary thingy. 

2. Bubbles are a 1:1 reduction, offsets require RFP.

3. Most important:  bubbles are a way of circumventing the regime.  You’re neither a new source nor a modification; you don’t have to meet BACT or LAER.  Offsets are what you have to meet when you are a new source.  

4. We now know that bubbles apply to PSD, because even the Carter administration allowed that.  Look in the regs at the definition of “source”.  
e. Interstate provisions § 126
i. Only states and political subdivisions can bring claims under this, not individuals.  EPA Administrator is the decision-maker (§126(b))

ii. How do you determine if pollution is “significant”?  

1. Violation of § 110(a)(2)(D)(ii)—so there’s not a substantive standard .  This is actually a scrivener’s error:  should be § 110(a)(2)(D)(i).  

a. “Contributes significantly to nonattainment or maintainance of a primary or secondary standard”

b. or interferes with a PSD or visibility issue

2. What else does § 110 do? Defines the standards for SIPs.  So this basically becomes an additional requirement—in addition to demonstrating that you’ll meet the NAAQS, you have to show that you won’t contribute to interstate air pollution.  

3. So you can’t bring a citizen suit on the § 126, but you could seek judicial review of the Administrator’s decision to approve the SIP. 

iii. SIPs, judicial review, and interstate provisions:

1. Judicial review (§ 307(b)):  Challenges to the NAAQS have to be filed in the DC circuit, but challenges to SIPs must be filed in the relevant circuit, unless the administrator’s decision has national scope or effect.  

a. So this is probably the circuit of the state whose SIP is being challenged.  

b. There’s no time limit in § 126, but there’s a 60-day time limit in § 110 (SIPs).  The EPA Administrator is the decision-maker in § 126, but in § 110, it’s the relevant federal judge. 

2. What about SIP amendment?

a. Courts have held that the only thing that can be challenged after an amendment is the effects of the amendment.  Problem with this is that it enables you to change a SIP bit by bit to sneak in pollution that would otherwise be impermissible. 

iv. Sources in violation:  EPA operation and standards (§ 126(c)).  
1. When is upwind pollution excessive?  When a standard is “substantially inadequate” to “mitigate adequately” interstate air pollution as defined in two sections or “any requirements of the chapter”.  Where does this quote come from?
v. Air Pollution Control District of Jefferson County, KY v. EPA
1. Kentucky promulgated a stringent SIP and imposed strong emissions requirements on its plants.  Indiana has decided not to regulate a plant just over the border, the Gallagher Plant.  Gallagher Plant is emitting something like 6 times the SO2 that the KY plant is.  KY brings a § 126 action against the administrator, who decides that there is no violation.  Goes up to Ct. App., which defers to the administrator.  Sorry, KY!

2. Rationale for EPA’s finding:  

a. Jefferson County a nonattainment area.  It was violating the NAAQS.  Pollution was coming from Indiana, exacerbating this problem.  However, EPA calculated that only about 3% of the SO2 concentration at any location in the county is attributable to Gallagher. 

i. In the portion of the county that was violating the NAAQS, only 3% was from Gallagher.  In other areas, that weren’t in violation, it was much higher.  

b. What about KY’s argument that they’ve promulgated a stricter standard to leave “room” for industrial growth? 

i. EPA can’t enforce a stricter standard than the NAAQS, because its enforcement provisions are based on NAAQS violations.  States are free to make their own standards, but there’s no way to enforce them against upwind states. 

c. Isn’t it weird that the court provides no analysis for what counts as a “significant” contribution?  Yes.  It is.  State’s argument about compensation by percentage makes sense. 
vi. Possible solutions for interstate air pollution problems
1. Make any downwind pollution created by a state count towards their compliance with NAAQS.  Basically, a way of internalizing the “cost” of pollution.  Problem is trying to measure this.  

2. Ban downwind pollution.  Pollution isn’t random—prevailing winds dictate pretty well where pollution will go.  But if you just banned downwind pollution entirely, you might just stop a state from having any industry. 

3. What could a judge do?  Sometimes they sort of try to impose taxes, but that’s frowned-upon.  It’s hard to fix this w/o a statutory scheme. 

4. Conceptualize the air in a downwind state as a resource to be shared bw the upwind and the downwind state.  Set possibility of more stringent state ambient standards aside.  Assume it’s met in the downwind state.  But what’s a plausible regulatory tool/risk management strategy for minimizing the problem?  Want to minimize costs.  Figure out where you can regulate most cheaply, and do that.  So you’re sort of “averaging” air quality between the two.  

a. But what if the downwind state wants to do better?  

b. What about in a PSD situation? No baseline bc there’ve been no problems, but the state really wants cleaner air and doesn’t want to get dragged up to the NAAQS.  Should an upwind state be allowed to impose whatever pollution it wants on the downwind state until the baseline gets set?   

vii. Cost-minimizing allocation under the statute
1. Statute does not explicitly bar consideration of costs.  Michigan v. EPA allowed EPA to impose requirements based on use of highly cost-effective control measures.  

a. SIP call case.  EPA used the highly cost-effective controls to set the level of required reduction.  State-by-state requirement

2. States are free to choose how they want to achieve this.  NOx budget.  

3. Is this consistent with the statute? American Trucking:  why couldn’t costs be taken into account?  “We decline to find elephants in mouseholes.”  This case came just before American Trucking.  

a. Statutory section in American Trucking:  “requisite to protect the public health.”  Health and safety v. costs

i. SCOTUS:  can’t trade off health and costs

b. What’s the trade-off here? More cost v. less cost in meeting the same standard.  American Trucking was about setting the standard, this is about the path by which you meet it.  If in the end you’re going to meet the NAAQS, why waste resources?  

i. How do you turn this into a legal argument?  

f. New Source Performance Standards § 111
i. Generally:

1. Uniform, technology-based standards based on the best available technology:  “…reflects the degree of emission limitation achievable through the application of the best system of emission reduction which (taking into account the cost of achieving such reduction and any nonair quality health and environmental impact and energy requirements) the Administrator determines has been adequately demonstrated.”  § 111(a)(1).  
2. Administrator can vary the NSPS based on categories, classes, types, and sizes.  

ii. Portland Cement v. Ruckelshaus
1. REVIEW THIS

2. BACT:  electrostatic precipitator, baghouse.  

3. They hadn’t, in this case, defined which of two production processes/systems would best reduce pollution. 
4. How do you take economic cost into account?  Do you look only at cost to the industry itself?  Social cost?  What if an industry can’t survive in one region due to existing level of pollution or other things that make cost prohibitive, but is flourishing elsewhere?  Can you regulate them into the ground since they’re alive elsewhere?  
a. What if there are close substitutes?  Even moderate costs will cause the industry to collapse, because the substitute will suddenly become cheaper. 

b. What if there are close substitutes in one part of the country but not in another?  Are these permissible costs under the statute? 

i. Yes, probably.  Otherwise it’s got no teeth.  And the EPA would have to demonstrate how it would work and effect competition everywhere, instead of more generally.  Very difficult to do this.  

5.  How did EPA “demonstrate” the technology here?

a. EPA doesn’t have to go set every single existing plant in order to set a standard for new sources.  But they needed to look at more than one.  It’s really hard to argue that you can generalize properly from one—what if the one has some quirk or particularity?  

i. EPA could have defined the best way of controlling pollution as a dry-process plant w/this technology.  They didn’t have an appropriately demonstrated technology for the wet-process plant.  

b. What if no existing plant could have met the standard?  Could EPA have said, No existing plant could meet this but if you build a new plant around this standard, then it’ll meet it?  And get away with no demonstration?  Does it make sense to try to set a standard for new plants by examining old plants?  Why does it matter if existing plants can meet the standard or not? 

i. Court says that EPA could have extrapolated from existing data and expert opinions to project what would be the best technology for new plants.  But since they decided to base it on testing, then they have to do the testing properly!
g. New source review
i. Generally

1. New sources are controlled more strictly than existing sources. Regulation of existing sources mostly left to states under SIP program

2. Proposal to construct a new source of air pollution may be subject to new source performance standards (§ 111) or new source review 

a. New Source Review encompasses the permit requirements of the PSD (§ 165) and nonattainment (§ 173) programs.
b. NSPS applies in NAAQS areas (check this!)
c. So either BACT (PSD) or LAER (nonattainment) is required. 


3. Why have stricter standards for new sources?

a. Differential compliance costs for new vs. existing sources

b. But what about incentive for anticipating change?

c. And what about equity? 

4. What if they can’t do anything to the plant?  

a. Extends the period during which it’s profitable to operate the plant, basically.

5. So what happens when you have a plant that comes into compliance, and then EPA makes the regs more stringent? 

a. Desire to protect pro-environmental investments.  We see this under CWA.  If a company comes into compliance, and then the standard is amended, the company gets 10 years of protection of the investment before it has to comply. 

6. Note that we’re very concerned about settled expectations in CAA, but not in Superfund.  Retroactive liability.  

ii. What is a new source?
1. NSR applies to new construction and to modification of existing sources (§ 169(2)(c), PSD; § 7205(c)(5), nonattainment).  

a. Cross-reference in nonattainment provisions to NSPS definition of modification (§ 171(4), ref’ing to § 111), “construction” in PSD defined to include modification as in § 111 (§ 169(2)(c))

2. The modification must lead to a significant increase in air pollution (§ 111) in order to trigger NSR. 
a. 2002:  new rule for establishing baseline and future emissions in order to project the “significance” of an increase.  

i. Created a 10-year lookback period to give sources flexibility to account for slow periods in the business cycle (prev:  24 mos. prior).  Challenged in NY v. EPA and upheld. 
ii. Plantwide Applicability Limitation:  allowed sources to voluntarily adopt plantwide ceilings or camps on emissions and avoid NSR

iii. Use of emissions limitations rather than actual emissions to measure emissions increases in the Clean Unit program

iv. Exemption of certain control projects that result in “net overall environmental benefits” from NSR. 

v. Exemption for sources from recordkeeping requirements if they determine that there is “no reasonable possibility” that their projects constitute modification for NSR purposes.  Challenged in New York v. EPA and remanded for a “reasoned justification” of this decision.  
3. Reasons for including modification:  

a. Would encourage the installation of modern pollution controls on existing sources.  Both commentators and courts have adopted this theory, based on legislative hisorty. 

b. However, what’s actually happened is that the cost-benefit calculus has been tipped towards maintaining older facilities and patching them up at just below the level that will trigger NSR.  “Old plant effect”. Depends on what the cost of environmental regulation is.  

c. How could you restructure this to avoid an old plant effect?

i. Cap and trade system – existing sources get them, but they face an incentive to reduce their pollution.

ii. Time limit on grandfathering.  Think of this as similar to nonconforming uses in land use.  Prior estimated natural life of the plant.  That’s all they would have expected ordinarily.  

iii. Defining modification and measuring increase has been, historically, a giant pain in the ass. 

1. EPA had defined it differently w/in the NSPS context, even in the same rule (see New York v. EPA).  In 1980, EPA issued a standard rule for the two, which defined modification as “any physical change in or change in the method of operation of a major stationary source that would result in a significant net emissions increase of any pollutant subject to regulation under the Act.”  

2. Physical change exempted a number of things (see list p. 91)

3. New emissions increase was “any increase in actual emissions from a particular physical change or change in the method of operation at a statuionary source”—had to account for contemporaneous increases or decreases in emissions of the pollutant.  Contemporaneous offsets had to occur in the five years prior.  “Significant” was a set tons/year amount, specified for each pollutant. 

iv. Wisconsin Electric Power Company v. Reilly (1990)(94)

1. Question:  was WEPCO’s program a “major modification” triggering NSR under the statute?

2. Physical change:  Replacement of various drums and air heaters.  

a. Plant argued that modification should be read to require a “fundamental change”, not replacement in kind.  Court found this not to be supported by the statute or preedent. 

b. This would open “vistas of indefinite immunity”:  like-like replacement would mean that the application of NSPS and PSD “might be postponed into the indefinite future”; the legislative history of the act suggests that this was not the intended result. Congress wanted to speed up improvement in air quality.  

c. The statute itself strikes an environmental-economic balance; not sticking strictly to the statute could upset that balance.  

3. Is this “routine maintenance”?  EPA makes a case-by-case determination whether or not something is routine; in this case they found that it wasn’t.  

4. Omitted section:  EPA improperly relied on potential to emit, rather than projected actual emissions to determine if there was a significant net increase.
5. Post-WEPCO:
a. Administration comes out w/ the 20% rule and the 10-Year Lookback Rule (see above under “significant increase).  This was challenged in New York v. EPA, 2005, and the rule was upheld.  
i. Lookback Rule means they’ll choose the highest 24-month period in the preceeding ten years as their baseline.  What’s the rationale for doing this? Need to look back over a full business cycle.  Surrendering capacity issue. 

ii. What could you do instead?  Some kind of averaging thing? Why didn’t the court require the agency to define more specifically what the length of the business cycle was?  EPA says that this may vary from industry to industry and that picking 10 years facilitates certainty and clarity.  Note that they erred on the side of permissiveness. 
h. NAAQS case study:  Lead (p. II-3)
i. Background

1. Administrator forced to add lead because he’d made findings about the dangers of lead when promulgating the unleaded gasoline rule under § 211 of the CAA.  

2. W/in Administrator’s discretion to make a finding of adverse effect, but once he’d done it, had to list lead as a criteria pollutant. 

a. However, in a subsequent challenge to the sulfur oxides NAAQS, court held that the content of a revision (as opposed to a new standard) was w/in the Administrator’s discretion. 

ii. Setting the lead standard

1. Determining the criteria:  what the effects are and who’s at risk. 

a. What does the statute say about the stringency of the standard? 

i. Primary:  requisite to protect the public health, allowing an adequate margin of safety.

ii. Secondary: protect the public welfare from known or anticipated adverse effects. 

2. Determined the critically sensitive population

a. Young children b/w 1-5 YOA.  Developmental effects and greater likelihood that little kids will ingest something (eat paint chips, frex).  

i. Critical population is the one that sees an adverse effect at the lowest concentration.  Could be pregnant women, asthmatics, old ppl, etc.  

3. Determined the pivotal adverse health effect

a. Chose b/w ALAD inhibition and EP elevation. 

b. Decided that the air lead standard should be designed to prevent the occurrence of EP elevation in children.  This is because EP elevation indicates an impairment of various cell functions.  Also b/c CDC had used it.  

c. The health effect that occurs at the lowest concentration is chosen as the “signal” via which to set standards.  This is sometimes called a critical population/critical effects test.  

d. How did they chose EP v. ALAD?  ALAD shows an effect earlier, but the effect doesn’t lead to impairment—not a harmful physiological change. 

i. You can imagine that the administrator might have chosen this level instead—a detectable physiological change at a lower level.  Precautionary approach.  

4. Determined the mean population blood level that would protect the CSP.

a. 15 picograms of lead/dl chosen because the CSP as a group showed EP elevation above that mean level

b. So this is the blood level that causes that health effect.  Note, however, that this is a population average and doesn’t guarantee that all children will be protected.  

c. CDC guidelines, however—about 20,000 kids will still be above the CDC level of 30 micrograms/dl. And what about the kids bw 15 and 30? 

5. Determined the relationship b/w air lead exposure and blood lead level

a. Problem was that lots of blood lead comes from non-air sources.  Ratio of exposure to blood lead increase set at 1:2.  This is conservative estimate, but they think that children experience higher ratios. 

6. Determined the allowable blood lead increment from air
a. Multiple sourcs of blood lead.  If they make up a lot, the NAAQ must be set low to keep average exposure under 15. 

b. Main problem was basically kids in public housing eating paint chips off the wall or paint turning into dust in the air.  EPA didn’t have statutory authority to do anything about this.  

c. No NAAQ will be protective in all locations, but EPA doesn’t think that § 109 allows them to set location-specific standards. 

d. Estimates of non-air contributions ranged from 10.2 to 14.4; EPA chose 12.  

i. “if EPA were to use a larger estimate of non-air contribution to blood lead, the result would be an exceptionally stringent standard, which would not address the principle source of lead exposure.  Conversely, EPA believes that it should not adopt an estimate of non-air contributions below the level shown in available studies to be the lower mean blood leave level documented in the criteria document.” 

ii. Not a ton of explanation of why 12.  
7. So in the end:  air-contribution to blood lead allowed to be 3 micrograms.  Air lead concentration then to be 1.5 micrograms/m3. 

a. Need to figure out what the concentration of lead in air that will lead to a 3 microgram increase in blood lead will be.  

b. Look at different levels of lead in the air are and what blood effects are produced.  Studies give them 1:1.2-1:2.3.  They pick 1:2.  Not really explained why.  

8. Margin of safety, bc based on lowest threshold and attuned to most sensitive population. 

a. EPA has selected a ratio at the “protective end of the range”—notice, however, that they could have picked a much more stringent standard and didn’t!  

b. What happens if this gets challenged in court?

c. How does an Administrator set a standard? 

i. Maybe it wouldn’t actually be that hard to reduce emissions to .6!  Maybe that would be super-cheap.  Theoretically, you’re not allowed to look at this.  Eads says that you do anyway.  
i. Cases:  Cost-benefit under CAA
i. Lead Industries Association (1980) (II-9)
1. Court previously reviewed and approved the unleaded gas regulations.  In this case, asked to review the NAAQS. 

2. Question:  must the Administrator consider economic and technological feasibility in setting the NAAQS? 

a. Petitioner bases this on the statutory provision allowing an adequate margin of safety—believes this requires the Administarator to weigh these factors in deciding what that margin is.  

b. Court doesn’t buy it.  Nothing in the Act or the legislative history back this up. 

i. Congress told Administrator to consider this when they wanted him to:  § 111 requires it to be considered in NSR provisions, frex.  

ii. Expressio unius: explicit language lists lots of factors that are supposed to be considered. 

iii. So industry isn’t arguing that you can consider costs in the scientific analysis, but is arguing that in the decision on an “adequate margin of safety” you can do so.  

iv. Court says that “adequate margin of safety”, on its face, doesn’t have anything to do with costs, and that if they’d wanted costs to be considered there, they would have put it there. 

1. Congress knows how to do this if they want to.  

2. But why assume against it?  Scalia’s argument goes to this—it’s too important and too likelihood to strongly influence the application of the statute.  

3. Question:  is the Administrator allowed to set the standards based on likely harm, rather than proven harm?

a. Yes:  Congress wanted them to err of the side of caution. 

i. Economic and technological feasibility to be subordinated to goal of protecting public health.

ii. CSP to be focus of regulation. 

iii. Absence of adverse effect on those individuals the goal. 

ii. American Trucking (2001) (II-15)
1. Challenge to the PM and ozone NAAQS
2. Does “the public health” encompass an economic-impact factor? 

a. No.  Congress was aware of the potential economic impact of air quality regulations.  § 110 permits the Administrator to waive the compliance deadline if there are potential adverse impacts on the public health or welfare; NSR provisions; auto provisions—basically, Congress knows how to give this authority if it wants to!

b. The CAA does not “hide elephants in mouseholes.” 

c. “adequate margin” and “requisite” do not constitute authority to consider economic impact.  These “modest words” do not have “the power to determine whether implementation costs should moderate national air quality standards.” 

3. Does the “Administrator’s judgment” allow him to consider economic impacts?  

a. It may allow him to include certain unenumerated impacts.  However, not cost of implementation—that’s too direct and too important and too likely to severely impact what’s done—that would sure have been mentioned if Congress had wanted it considered. 

4. Minor questions:

a. Do the provisions that allow the states to receive information on the economic impacts of abatement technologies constitute permission to weigh these factors?  No.  

b. Did § 109(b) as interpreted by the Administrator lack an “intelligible principle” to guide the EPA’s authority?  Lower court found that EPA’s interpretation was a nondelegation violation.  

i. An agency’s interpretation doesn’t create a nondelegation problem.  That’s in the statute. 

ii. This statute is well within the outer limits of nondelegation doctrine. 

5. Breyer’s concurrence
a. Ricky thinks this is important!  Review
iii. General issues with cost-benefit under CAA
1. Because CB can’t legally be considered, there is a lack of transparency in decision-making.  Notice and comment can’t really work if you can’t see the agency’s full basis for its policy.  

a. Agencies have to give a statement of purpose and bases of decisionmaking.  If agencies fail to respond to material comments, petitioners may win on that basis alone.  Shouldn’t CB analysis be honest?
i. Ricky doesn’t like this kind of “subterfuge”.

ii. Envtl groups might feel this preserves the “purity of the process.”

2. Health-health tradeoffs—briefly back to Breyer’s theory that by making this more expensive, you’re decreasing collective health. 

a. But how does the causation go?  

b. And how is the cost distributed?  If most of the cost is borne by very wealthy people, it’s not going to impair their health.  How regressive is your tax system?  That’s the question.  
j. Hazardous air pollutants
i. Regulated under section 112: “shall establish any such standard at the level which in his judgment provides an ample margin of safety to protec the public health from such air pollutant.”  
ii. Pre-1990 § 112:

1. Don’t have to establish ambient standards or review SIPs.  Thus EPA can directly control them via a 2-step rulemaking process:

a. Listing as hazrdous

b. Uniform national emissions standards

2. Results disappointing!

a. Only seven pollutants listed in the 20 years after the passage of the Act

b. Regulations that were promulgated were often ineffectual:  “quintessential example of ineffective halth-based standard-setting”

3. NRDC v. EPA:  court rejected a standard explicitly based on technical and economic feasibility.  Court allowed EPA to consider feasibility only w/i the framework of an “ample margin of safety.” 

a. Health standard set first, then margin of safety established.  

4. NRDC v. Thomas:  DC Circuit upheld trail court’s dismissal of a case that sought to compel the Administrator to list eight pollutants for which he had made a finding of carcinogenicity.  Court found that the notices were not the “functional equivalent” of a finding that these were HAPs. 

5. DC Circuit, in a 1990 decision, interpreted this to allow consideration of costs. 

iii. 1990 reforms:

1. Technology-based approach to regulation, w/ health as a backstop.  

2. Initial list of HAPs set by Congress.  

3. Requirement to establish source categories

4. For each category, an emission standard to be established following a schedule. 

5. Standard to be set according to the Maximum Available Control Technology (for major sources):  “the average emission limitation achieved by the best performing 12 % of the existing sources or, for categories containing fewer than 30 sources, the emission limitation achieved by the best performing five sources.”  

6. 8 years after development of the initial standards, a health-based standard could be established to eliminate residual risks

a. Still with the foot-dragging
7. 112(f)(2):  Allows costs to be considered in setting the second set of standards – but can costs be considered when setting standards to protect the public health (first part of the sentence) or only when “environmental effects”?  Note that the first part of the sentence is basically identical to the pre-1990 language, which was the subject of the court’s holding. 

a. “the Administrator shall, within 8 years after promulgation of standards for each category or subcategory of sources pursuant to subsection (d) of this section, promulgate standards for such category or subcategory if promulgation of such standards is required in order to provide an ample margin of safety to protect public health in accordance with this section (as in effect before November 15, 1990) or to prevent, taking into consideration costs, energy, safety, and other relevant factors, an adverse environmental effect.”
iv. National Mining Association v. EPA

1. EPA’s final rule on the implementation of emissions standards for HAPs. 

2. Definition of major sources:  “any stationary source or group of stationary sources…” – rule language nearly identical to statutory language.  Emissions from all sources of HAPs w/in a plant site to be aggregated, so long as geographically adjacent and under common control.  If total emissions exceed standard, then MACT applies to all sources.  

a. Petitioners argued that a minor facility that happens to be located at a larger industrial site will be impermissibly regulated.  Argue that these have to be w/I the same source category.  

3. Held:  Statutory language accords w/EPA’s interpretation.  “Compelled” by the statute.  Statutory language:

4. Held:  EPA is required to consider state and local controls, even if not included in the SIP, when calculating the amount of hazardous air pollutants a statonary source can emit.  EPA is not limited to considering “federally enforceable” controls when calculating the maximum capacity of a plant (not that operational controls are treated as reducing the plants emitting capacity).  
v. Cement Kiln Recycling Coalition v. EPA (2001)

1. Congress imposed minimum stringency requirements that apply w/o regard to costs or to ther factors.  For new sources, must achieve the same level as the best controlled similar sources.  For existing sources, MACT.  EPA implements these via two-step process. 

2. EPA issued standards limiting emissions from three types of sources that produce 80% of HAP emissiosn in the US.  W/i each category, EPA set standards for a series of HAPs.  

a. Then EPA set the MACT floors for each one:  id’d the best-performing 12% of sources (MACT pool), id’d emission control technology used by most of the sources.  Two techniques:  end of stack control technology, feedrate.  EPA then expanded the pool to include all sources using the MACT control and set the floor at the worst emission level achieved by any source in the expanded pool.  

b. Then EPA set five beyond-the-floor standards as req’d by 112(d)(2). 

3. Sierra Club argues that 112(d)(3) requires floors to reflect emissions actually achieved by the best-performing sources and doesn’t allow EPA to set a lower floor based on what it believes to be achievable by all sources. 

a. EPA argues that 112(d)(3)’s floor provision incorporates 112(d)(2)’s ahcievability standard.  Court finds that this conflicts w/the plain language of the statute.  

vi. Sierra Club v. EPA (2004) (154)

1. Sierra Club challenges the promulgation of regulations governing HAP emissions from primary copper smelters.  EPA found that copper smelters used PM controls to control HAP emissions, and thus set standards in terms of PM, not HAP.  

2. Sierra Club argued that EPA didn’t consider non-air quality health and environmental impacts as required by 112(d)(2) (“taking into consideration the cost of achieving such emission reduction, and any non-air quality health and environmental impacts and energy requirements…”).  

a. Non-air quality impacts are results of emissions that don’t manifest themselves as air pollution, like acid deposition, according to SC. 

b. According to EPA, however, they’re health and environmental imapcts that may result from measures to achieve the emission reductions.  

3. Congress didn’t define the term, and EPA’s interpretation passes the Chevron test.  Non-air quality impacts are groups with consideration of the costs of emission reductions and energy requirements, which strongly suggests that this is meant to allow the administrator to consider the costs and benefits of the control measures. 

4. Furthermore:  this construction would suggest that EPA was supposed to consider these less-direct impacts now but more direct impacts later (when the the risk-based standards are promulgated).  

VI. The Clean Water Act
a. Generally
i. § 101(a)(1) “…it is the national goal that the discharge of pollutants into the navigable waters be eliminated by 1985.” 

1. Ambient standards CAA version of water quality standards

2. Emissions rules CAA verson of effluent standards. 
3. All new sources rerquired to meet strict performance standards. All of the work of the CWA for the first twenty years was done via effluent limitations.  Water quality standards took about 20 years to be established.  So the “work” that the ambient standards due in the CAA is different than the “work” that water quality standards do in the CWA. CWA driven by ELs
ii. Effluent limitations
1. § 301(b)(1)(A):  Effluent limitations have to be established.

2. Must require the best practicable control technology currently availably as defined by the administrator pursuant to…

a. Note that this does NOT say “for categories/classes”.  However, the DuPont court said “yes” to categories. 
3. § 304(b):  Must identify the characteristics of the pollution.  May consider total cost of technology in relation to effluent benefits, age of equipment, engineering aspects, non-water quality environmental impacts for both BPT and BACT. 

4. § 301(b)(2)(A):  For specific toxic pollutants, must specify the use of the “best available technology economically achievable for such category or class, which will result in reasonable further progress toward the national goal…” 

5. § 306(a), (d):  National standards of performance.  

a. “standard of performance” means a standard that reflects the “greatest degree of effluent reduction which the Administrator determines to be achievable through application of the best available demonstrated control technology” 

b. “new sources” defined

c. “source”= “any building, structure, facility, or installation” 

d. “construction”=any placement, assembly, or installation of facilities or equipment at the premises.  

e. (d):  preemption for 10 years. 

6. Best management practices allowed as a type of effluent limitation under CWA
iii. Major method for carrying this out:  National Permit Discharge Elimination System.  

iv. Phased approach to setting standards for existing sources.  

1. First round:  “best practicable control technology currently available” (BPT) § 301(b)(1)(A)
a. The 1977 standards were to be based on the “best practicable control technology currenty available”.  Had to be set by class and category of structure.  Practicable was intended to limit the standard to the use of existing technology only in cases where additional technology would yield a reduction wholly out of proportion to cost.  So EPA must conduct a CB analysis on switching to new technology.  Congress was concerned about overburdening industry. 

2. Second round:  “best available technology economically achievable for such category or class”  (BAT)  Probably not a lot of difference bw CWA BAT and CAA BACT.
a. Explicitly set by category/class.  Cost was a less important factor:  no CB requirement. 

b. How does EPA determine what technology is “available”? 

i. Courts have allowed EPA to set standards based on data from one facility. 

ii. Technology that had not yet been applied in practice was also allowed so long as it was reasonable to assume that it would be applied. 

3. § 304(b)(1)(B) (Effluent Limitation Guidelines):  BPT.  Comparison of total cost of application of the technology to the effluent reduction benefts—the comparison factors, v. the consideration factors listed later. 

4. § 304(b)(2)(B):  BAT.  All are consideration factors.  No comparison factors. 

5. Why the distinction? 

a. Why might Congress have wanted to set a BPT standard that requires benefits to exceed costs, even if industry could have met a higher standard? 

i. Strong technology forcing component to the statute.  Congress wants to force change regardless of the costs, but only eventually.  Unless there was really a strong environmental benefit, they weren’t going to force it early. 
v. Controls on point as well as nonpoint sources.  

vi. Effluent limits and state designation of use of waters.  Goal for all waters to eventually be “fishable/swimmable”, but many still are not.  

1. Once the use has been designated, the state determines the water quality criteria necessary to support the designated use. 

vii. More on new sources:  review this
1. BPT and BAT apply to existing sources, while the standards apply to new sources.  Set for categories and msut be based on technology demonstrated to be available presently (though can be one plant only). 

b. The CWA v. the CAA
i. Existing sources  
1. By 1977, existing sources had to meet federal BPT standard and by 1983 (though later extended by statute), BAT standard.  No grandfathering

ii. Federalism

1. Effluent limitations are all federal. But states have a lot of leeway in determining the water quality standards.  

iii. Non-point sources
1. A lot of concern about pollution that doesn’t come out of a single, identifiable point.  Agricultural runoff, frex. 

2. Point sources used to be a big chunk of the water quality problem.  Now, however, we’ve been able to make a big reduction in effluent from point sources.  Non-point sources are much harder to regulate, and so the shift over time means that NPS are now a bigger chunk of the water quality problem. 

a. Sort of like fugitive emissions in CAA. But that’s less of a problem—appears to account for a small chunk.  
c. Du Pont v. Train

i. Question presented:  Does EPA have the authority under § 301 to issue industrywide regulations limiting discharges by existing plants?  Must EPA allow variances for individual plants to the new source standards issued under § 306? 

1. DuPont argues that the § 402 permit is the only statutory authority for the issuance of enforceable limitations on the discharge of pollutants by existing sources. 

2. § 301 does not state who shall set the effluent limitations.  EPA argues that it has the authority, and that the 402 permits simply incorporate the across-the-board limitations that it is allowed to make.  

ii. It looks, from the statute, sort of like the EPA administrator was supposed to set guidelines pursuant to 304 before setting [?] limitations under 301 and national standards for new sources under 306.  This didn’t happen.  

1. EPA looked at plants with really good pollution control and used that information as well as technical data and economic studies to determine what degree of pollution reduction could be achieved by various levels of technology in the statute.  

2. § 509(b)(1) provides for judicial review of EPA’s actions in setting efflucent limitations.  However, no judicial review of § 304 guidelines.  If the regs are “effluent limitations” under 301, then they’re reviewable in a court of appeals, but if DuPont is right and they’re 304 guidelines, then they can only be brought in the district court.  

a. This section also suggests by its language (“review of the Administrator’s action in setting an effluent limitation”) that this is the Administrator’s job.  Problem is that this could refer to things other than § 301(b) standards.  

iii. Court:  statutory language makes it clear that the 1983 effluent limitations are to be set by regulations.  These effluent limitations are to have coercive power over and entire category or class of source, not in the course of issuing a permit to one member. 

1. Held:  301 unambiguously provides for the use of regulations to exstablish the 1983 effluent limitations.  

iv. Court:  The language is different in the 1977 section—“point sources” rather than “categories and classes of point sources.”  However, nothing else suggests a “radically different” mechanism.  Thus is appears that this is merely poor drafting. 

1. Held:  301 also provides for setting the 1977 limitations by statute. 

2. Class/category issue: statute mandates the creation of class- and category-wide standards.  This doesn’t make sense if you’re letting standards be set by each state, because you won’t have uniform standards.  It’ll also dampen the technology-forcing effect, bc if these are state-by-state, you’ll only get a push to the best-performing source in the state. However, that’s not in the section that covers the 1977 BPT standards.  

3. Based on an argument, basically, that it would be really hard for EPA to set these standards by permit; we’ve already found that EPA is to set the standards (not state), and thus it can’t work this way.  

4. Rests this on the variance clause:  “We conclude that the statue authorizes the 1977 limitations as well as the 1983 limitations to be set by regulation, so long as some allowance is made for variations in individual plants, as EPA has done by including a variance clasue in its 1977 limitations.”  

v. Court:  The statute isn’t the clearest thing in the world, but other sections indicate that these regulations shall be set by the Administrator. 

1. Held:  the § 301 limitations are to be adopted by the Administrator, based primarily on classes/categories of plants, and will take the form of regulation. 

2. Held:  the § 304 guidelines are basically preparatory work for the act. 

3. Held:  § 306 contains no variance provision and none is required. 
d. Weyerhaueuser v. Costle
i. Pulp and paper industry challenge to the 1977-1983 effluent limitations for their category.  Argued that EPA should have done a better cost benefit analysis.  EPA should also have balanced benefits against non-water quality environmental impacts to arrive at a net environmental benefit conclusion. This is based on some LH and on the requirement to take cost “into account”. 

ii. § 304(b)(1)(B) governs the process of setting the effluent limitations.  Groups the factors that must be considered into two sets: cost v. benefit (“comparison factors”) and other factors (“consideration factors”).
1. Congress “mandated a particular structure and weight” for the comparison factors (a “limited” balancing test): “By singling out two factors…for separate treatement…Congress elevated them to a level of greater attention and rigor.” 

2. Congress didn’t create a balancing structure for the consideration factors.  EPA had discretion to decide how to weigh those.  

a. Limited because you’re not fully accounting for costs and benefits. 

3. How could you argue for CBA of all of the factors?  It’s irrational not to do it, since you already have to go down that road AND you also have to consider these factors.  Rationality requirements of the APA.  

iii. Did EPA weigh the comparison factors via a limited balancing test as required by Congress?

1. Petitioners wanted an examination of the marginal costs and benefits.  Try to distinguish the case from American Paper by pointing out that they supplied an accounting of the marginal costs and benefits here.  Also look to some LH. 

a. EPA did a total approach, not a marginal analysis.  Cf. Corrosion-Proof Fittings:  that req’d an incremental approach.  That’s a different statute, so it doesn’t control here. 

2. Court:  EPA has some discretion with regard to how it decides to perform CB analysis.  The 1977 standard did not place “primary importance” on the cost of compliance.  

a. But:  when an incremental analysis has been submitted, the Agency should not ignore it.  In this case, however, ignoring it didn’t matter because the incrmental anlysis wouldn’t have changed EPA’s decision. 

b. Marginal cost wasn’t high—stayed fairly constant.  
e. Variances
i. Types of CWA variances:

1. § 301(c):  Timetable for compliance can be modified by the administrator upon a showing by the operator that the modified requirement represents the best technology w/in the economic means of the point source AND represents reasonable further progress. Applies only to 301(b)(2)(A).  Individual-firm bankruptcy variance—BAT standard over all is can go up to the point of wiping out the industry, but this variances allows individual firms to escape. 

2. § 301(g):  Timetable can be modified for certain “nonconventional pollutants.” Applies to 301(b)(2)(A) only.  Water quality variance
a. Requires state approval

b. At a minimum, complance w b(1)(A) or (C) will occur (1977 limitations).  So you have to meet the BPT standard. 
c. No additional requirements will be imposed on any other source as a result.

d. Will not interfere with attainment of water quality necessary to protect public drinking water, wildlife, and recreational activities, won’t be an unacceptable risk to human health or the environment. 

3. “Fundamentally different factor” variance. 

4. NO VARIANCES EXIST FOR NEW SOURCES

ii. EPA v. National Crushed Stone Association
1. Challenge to pollution discharge limitations in the coal mining and crushed-stone industries.

2. To get a variance from the 1977 BPT requirements, must show that factors of the production process are “fundamentally different.”  

a. A greater than normal cost of implementation will be considered in a variance request, but economic inability to meet costs will not. 

b. 301(c) variance does allow consideration of costs, but only in the BAT context.  However, the DuPont decision found variance to be a fundamental part of the regulatory context. 

3. Must variance in the BPT context take the economic capability of the discharger to meet requirements into account? 

a. On its face, 301(C) is limited to variances from the BAT requirements.  

b. Language of 301(c) cannot easily be “exported” to the BPT requirements, because the underlying considerations are different. 

i. The 301(c) variance rules are designed to create a sort of mini-BAT for that industry:  the best available technology economically available for that source (as opposed to category) that rep’s future reasonable progress. 

ii. However, the “reasonable further progress” requirement, for example, doesn’t make sense w/BPT—no baseline!  

iii. BAT variance can require you to regulate to the maximum economically feasible level, but BPT standards don’t require that of non-variance cases.   

c. Finally, BPT understood that a substantial number of point sources might close.  A variance based on economic infeasibility doesn’t make sense.  Congress understood the potential economic hardships.  
f. Chemical Manufacturers Association v. NRDC
i. EPA developed FDF variance for cases that didn’t fit the baseline conditions it had used to create its models.  Post-1977 amendments, EPA still used FDF variations now and again, and created some by regulation. 

ii. § 301(l) states that EPA may not modify any of the toxics requirements in § 301.  EPA argues that this applies only to modifications explictly allowed by other provisions of § 301—just holds out toxics.  

1. An amendment to the standard is a permissible modification.  What wouldn’t be permissible?  Removing something from the toxics list by reg?  

iii. Are the FDF variances a “modification”?

1. NRDC says yes. 

2. Court says that other provisions permit EPA to revise its own standards from time to time.  “Modify” thus has no plain meaning and must be construed by EPA and the courts.  

a. EPA argues that the FDF variance is more like a revision permitted by 307 than it is like the other modifications in the statute.  Court agrees:  “It is, essentially, not an exception to the standard-setting process, but rather a more fine-tuned application of it.”  

i. Does this make sense?  Is this really a “modification”? 

ii. What if EPA was just rewriting the categories?  They could create a new subcategory if they wanted to.  That’s how the court is treating this—as a redefinition of a subcategory. 

b. Court does not think that FDF variances threaten the structure of the act—“spelled out both by the Court and by the Agency itself.”  

3. Congress has not spoken plainly, open to construction, EPA’s constsruction is reasonable. 

iv. Problems with the logic of this decision: 
1. Categories created via notice and comment rulemaking. 

2. In this case, similar sources would, however, still have to get variances themselves. 

3. Okay, say there are 10 plants that are different and so the Admin decides to create a subcategory.  He’ll force everyone to the level of the best source in those 10.  If he used a variance, then none of them would be forced to shift.  You lose the technology-forcing characteristic of the statute.  

v. Is this a well-founded decision under Chevron?

1. In terms of intent of Congress, does it make a lot of sense to allow 301(l) to kill the statutory variances and not the judicially-created non-statutory one? 

vi. Dissent in this case made the following argument:

1. This is not a better standard for a new subcategory.  It’s an impermissible move that defeats the technology-forcing elements of the statute.  

2. Agency’s interpretation is inconsistent w/the clear intent of Congress.  Congress had expressed an intent to prevent modification of the toxics standards.  

vii. Post this decision, Congress added § 301(n) and created the FDF variance by statute.  This was seen as a serious weakening of the toxics provision.  So they added provision for the FDF variance in a limited number of cases to keep it from popping up everywhere.  301(n) is a much more stringent standard.  Does not allow you to consider cost, frex. 
g. Non-point Source Pollution
i. We’ve been very successful at controlling point-source pollution.  Yay, big success story! However, non-point sources haven’t been controlled effectively.  Biggest problem: agricultural runoff.  

ii. How do you control nonpoint sources?

1. BMP:  how much pesticide you use, when you feed your animals, how you manage water, etc. 

iii. Statutory regime:

1. § 319:  State identifies the waters at risk; identifies the categories of sources that cause pollution; designs the process; submits a plan to the administrator for control of NPS; admin must approve plan.  

2. Similar to SIPS

iv. Why not marketable permits? How would this work?

1. Has the same economic incentives:  point sources will have an incentive to buy permits bc it’s very expensive for them to reduce pollution.  The NPS, having done nothing, will be able to reduce fairly cheaply bc they haven’t done anything. 

2. Initial allocation:  some kind of baseline measurement.  Grandfather the NPS, who’d then make money by selling the permits.  However, you have to establish the baseline level of pollution.  

a. This is where the “unit of environmental degradation” idea comes in.  

3. How do you define the permissible trading area?  It’s going to have to be within the same watershed. Difficulty in defining this.  Some watersheds huge!  

4. This is the argument of the unit of degradation measure—but raises problems, because you’ll have to buy units everywhere.  

v. NPS has grown as a percentage of the problem because PS have been forced to reduce their effluent levels.  However, WQS are still being violated, because of NPS.  

1. Two possible groups that can face more stringent regulations:  PS and NPS. 

2. Trading is a way of aligning the incentives bw the two groups.  2003 Water Quality Trading Policy hasn’t really been implemented.  

a. This will be more complicated, because you aren’t dealing with single units. 

b. We probably won’t actually be able to measure that outputs anyway!  How can you work a trading scheme under those circumstances? You’ll need proxies for the amount of effluent.  

c. Maybe you can use the difference in effluent bw current management practices and better management practices.  So, permits for reducing pesticide, frex.  But you still need some way of measuring and certifying.  

vi. Urban runoff presents different problems:

1. It would be hard to create a marketable permit scheme for each individual auto driver.

h. Water Quality Standards

i. Statute initially paid little attention to them. 

ii. Designated uses:  fishable/swimmable the goal.  If you want to designate for something else, you have to justify why you can’t reach f/s. § 131.10(j), (k)

1. Minimum uses

a. What use will actually be required?

2. Anti-degradation

a. How to require high quality over that required for a particular use. 
b. Statutory scheme: § 131.12

i. Antidegradation program must maintain level of water quality necessary to protect existing uses.  

ii. Support wildlife and recreation, unless allowing lower water quality is “necessary to accommodate important economic or social development.”  

iii. Still have to protect existing uses and comply w/other PS requirements.  

c. Compared to PSD

i. You can degrade down to existing use, even if you’re way above it.  

ii. But unlike in PSD, even if you’re not at top-level quality, you can’t degrade the hell out of something. 

3. Set by the states.  Must submit plan to EPA for approval.  WQS Regs § 131.5.

a. EPA reviews for protection of PH and welfare, purposes of CWA, procedural requirements. 

4. UAA:  can only downgrade due to natural factors, irremediable human-created conditions (dams that can’t be removed), severe economic dislocation leading to inability to meet 301(b) or 306. § 131.10(g).  Economic provision allows you to prevent the closure of important plants.  

5. Why didn’t Congress force everyone to f/s standard?  States can have bodies of water that are never f/s. 

a. CAA makes all air breathable. But we can’t escape the air.  You can “escape” the water.  Less of an impact on interstate commerce.  

b. Huge costs on existing sources by not grandfathering them.  But not willing to impose the cost of bringing all waters to f/s standard.  

c. Note that this isn’t about drinking water—that’s the SDWA.  

iii. Criteria:

1. Translation of the use into the pollution restrictions that support that use. 

2. You don’t get a restriction on what any particular pollutant can do, just on concentration. Allocating the pollution control burden is the second stage. 
i. TMDLS review this
i. States are supposed to set these standards to limit how much of a pollutant can be in the water each day.  This is related to the water quality goals. 

ii. Relationship bw this and 301(b)(1)(C)? 

1. Concern was that otherwise the Administrator would have to do this on a one-off basis every time a permit was issued.  This is about aggregate reductions. 

2. Basically, just another oversight tool

iii. No action on this for decades
j. Arkansas v. Oklahoma
i. Interstate water pollution plant.  In granted a NPDES permit for an Arkansas plant, does EPA have to weigh the Oklahoma’s water quality standards? 

ii. EPA’s CJO decided that § 301(b)(1)(C) required them to avoid a “detectable” impairment of water quality in Oklahoma.  

1. EPA’s permit incorporated OK water quality standards. 
iii. How does this compare to the CAA?

1. CAA provisions allow the state to consume the entire increment. 

2. In this case, there are no federal standards.  What’s the problem with that, though? 

a. They give the entitlement to the downstream state.  Basically an option to veto. 

b. No balancing of the interests.  [look over this againb]

3. Ricky things that in the CAA case, the balance is too far towards the upwind source of the pollution, and that in the CWA case, the balance is too far towards the downstream state.  

a. Maybe coasian bargaining is more possible in this context?  

4. Inquiry made more complex by the absence of federal standards.  So the downstream state’s stricter standard gets to control. 

iv. Court is essentially saying that EPA interpretation is permissible, not that it’s compelled.  Read narrowly. 

VII. CERCLA
a. The ex ante regulatory scheme:  RCRA

i. Provides ex ante regulation of generators, transporters, and operators of disposal sites.  Much of the regulation based on tracking the waste.  Chain of manifests that theoretically allows you to track the waste.  

ii. TSD (treatment, storage & disposal) facility.

iii. Extensive permitting and licensing reqs, esp. for TSD operator.

iv. Only applies prospectively. 

v. Even with this system, leaks can occur, however.  And then CERCLA kicks in.  So even if you followed all the rules of RCRA, the possibility for CERCLA liability still exists. 

vi. CERCLA isn’t just about past actions.  At the time of passage, it was, but under statute it applies to both the new and the old. 

b. Why have both regulatory schemes?

i. Same regulation v. liability arguments as we’ve seen before. 

ii. Liability puts the decision in the hand of the risk-causing entity.  This removes the burden from govt. to regulate every single thing.  Regulating the TSD, frex, is easier for the government, but regulating the amount of waste you can put out is harder.  

iii. If it’s just ex ante regulation, TSD has no incentive to step in and do the cleanup.  Under an ex post system you do, because you might be able to do it more cheaply.  You also have an incentive to find the pollution earlier, because it’ll cost you less. 

iv. HOWEVER, these incentives only work if there are enough parties with solvency out there who will worry about putting that solvency at risk.  

c. Responsible parties § 107(a)(1)-(4) – DEFINITIONS AT § 101

i. Owner and operator of a vessel or a facility

ii. Anyone who owned or operate the facility when the substances were disposed of. 

1. So a prior owner is only liable if disposal occurred; a current owner is liable no matter what.

iii. “Arrangers” of disposal, treatment, transportation, etc.

iv. Transporters, if they are involved in choosing the site:  “selected by such person.”

1. Some legal questions about what involvement you have to have in the selection. 

2. If the generator specifies the facility and you just take it there, you’re probably not liable. 

3. If you drive in a leaky truck, are you liable?  Argue this as an implicit site selection:  you chose for things to leak all over the road. 

v. (4) incorporates the “release or threatened release” which leads to the incurrence of response costs. 

d. Release § 101(22)

i. Once a hazardous waste barrel is placed on the site is it a release?  Probably not.  Is it a threatened release?  Maybe if it’s starting to degrade. 

ii. Proper disposal in an improper site probably counts as a threatened release as well.  

iii. “Threatened” is not defined.  Ricky thinks you tie this to some increased probability of release—if it’s a lot higher than the probability if the stuff was being treated properly.  

iv. “Response costs”:  “response” includes remove, removal, remedy, and remedial action and enforcement activities related to these things. 

1. Difference bw removal and remedial action is important:  govt can only spend on remedial action if the site is on the NPL.  
v. So the EPA inspector can’t run in and sue the responsible party if they just see the possibility of release—some cost has to be incurred first.  However, if you do an assessment and incur costs, you can ask for an injunction requiring the PRP to pay the prospective response costs. 
e. Hazardous substance  § 101(14)
i. Any substance designated under the CWA, any substance designated under CERCLA, any substances with the “characteristics identified” by the SDWA—even if it’s not actually listed, it’s a hazardous substance for these purposes if it has the characteristics, toxic pollutants, hazardous air pollutants, but NOT hazardous wastes. 
f. Extent of liability § 107(a)
i. § 107(a)(4)(A):  removal or remedial action costs incurred by a public actor “not inconsistent with the National Contingency Plan”

1. National Contingency Plan:  § 105, for some reason, delegates power to the President (he’s delegated it back to the Administrator).  Sets forth procedures for the conduct of cleanups.  If the govt wants to recover under § 107(a)(4)(A), has to follow those procedures. 

ii. § 107(a)(4)(B):  removal or remedial action costs incurred by private parties, if “consistent with” the NCP.  So govt gets more leeway, can do additional things if NCP doesn’t forbid them, but private parties can’t. 

iii. § 107(a)(4)(C):  natural resource damages.  Difference bw this and removal damages?  If remediation consists of removing all the barrels, carting off soil, etc.  NRD would include the persistent damage:  so now you have a big hole in the ground.  Losses that attach after the removal/remedial action has taken place.  The hazardous substance may be gone, but the quality of the resource may remain permanently degraded. 

iv. § 107(a)(4)(D): health assessment costs.  Cost of figuring out if there have been health impacts as a result.  

1. What’s missing?  Damages for the health effects.  This isn’t a federal toxic tort statute.  An earlier draft would have created a federal cause of action, but it didn’t pass. They can sue under a state law.  No preemption of those claims. 

v. § 107(f):  NRD only apply to public lands.  Private landholders don’t get compensation for NRD.  What it means for land to be controlled by the gov isn’t entirely clear—what about an easement, frex? 
vi. Strict liability statute.  Challenges to the retroactivity, but Congress clearly intended this.  DPC issues.  
g. Joint and Several Liability
i. Note that this isn’t in the statute

ii. Joint and several liability unless the harm can be proven to be divisible.

1. You can claim against one party for the full harm.  This allows you to recover full costs even when some PRPs are insolvent. 

2. If there’s not J&S liability, it is the plaintiff’s responsibility to find all the parties.  With J&S liability, the plaintiff can choose whom to recover the judgement from. 

iii. So one PRP may bear the burden of litigation, of finding the other PRPs, and the upfront cost of the judgment. 

iv. This assumes there is J&S liability w/contribution.  Absent contribution, that PRP would have not relief. 

1. Common-law rule of J&S liability didn’t contemplate a right of contribution. 

2. § 113(f) of CERCLA has an express contribution provision.

v. Absent J&S liability, would you ever bring a contribution action?  You only pay your share absent J&S.

vi. What about indemnification? § 107(e)

1. Seller/buyer, frex.

2. Transfers entire liability, as opposed to a share.

3. 107(e)(1):  liability “under this section” can’t be transferred. 

a. If the govt goes after the buyer, the buyer can’t use the indemnification as a defense.  But it would be a separate action.  

b. If the seller’s insolvent, the buyer has to pay the full action.  They can sue upon it, but the suit is worth nothing.  

c. The beneficiary of the indemnification agreement is taking the risk w/r/t the indemnifying party’s solvency. 
h. Divisibility of harms and contribution § 113(f)(1)
i. Divisibility of harms
1. Where does the distinction come from?  Common law

2. But if the court finds the harm to be indivisible, the PRP will subsequently pursue the other party in contribution.  Then the court will have to divide it.  Does this make sense?

a. At the contribution phase, the court uses equitable factors to assess the party’s responsibility.  The “Gore Factors” (p. 43).

i. Most important one: volume of waste.

ii. Second one:  hazardousness of particular type of waste.

b. So really?  This doesn’t make any sense.  Sometimes Gore factors are used to determine that something’s indivisible.  Sometimes they’re used at contribution phase.  See Chem-Dyne.

3. ‘Toxic soup’ example:  cases go both ways.  In re Bell supports divisibility based on volume, Vertac doesn’t. 

4. Courts are always willing to apportion in a contribution action.  So when is it apportionable in a way that defeats J&S liability?

a. Mushy!  Case law doesn’t make tons of sense!

b. Obviously govt will favor broad application of J&S liability bc if you apportion at the contribution phase, then the parties bear the cost of insolvent parties.

c. So maybe the Gore factors are most appropriate at the contribution phase (aside from the first one, which focuses on the distinguishability of the shares).

i. The others aren’t causation-based.

5. Ricky thinks there must be a conceptual difference bw these stages.  First one must be causation-based.  Note that these came out of the R2T.  
ii. Cooper Industries (45)(2004)

1. PRP had undertaken a voluntary cleanup and then sued other PRPs for contribution under § 113.  The court said that if a cleanup is undertaken voluntarily, there is no right to contribution. 

2. Language of § 113(f)(1):  “may seek contribution during or following any civil action under section § 9606.” So since nobody sued them, they can’t recover.  

3. Can a party engaging in voluntary cleanup ever recover under § 113?  No. 

a. But maybe the implied right to contribution in § 107(a)(4)(B):  “any other person” can recover costs.  Court remands for consideration of potential § 107 claim.  Key-Tronic found an implied cause of action for PRPs under § 107. Sort of dicta in a case over attorneys’ fees.  
4. So why didn’t the court just let them recover under § 107?  Maybe they didn’t want to decide if this is cost recovery or contribution. 

a. Because if they have to class this as cost recovery, then they have to decide about what happens with all of the shares of insolvent parties. 

b. If it’s characterized as cost recovery, then you have the chance to get there first and impose J&S liability on the other PRPs.  But then they might file contribution actions against the other responsible parties and try to impose some of the orphan shares back onto you. 

i. Defenses:  § 107(b)
i. Act of God:  “something no reasonable god would do.” § 107(b)(1)
ii. Act of War § 107(b)(2)
iii. Act or omission of a third party, other than an employee or agent of the defendant or whose action occurs in conjunction with a contractual relationship bw the two. § 107(b)(3) – THIS DEFENSE DOES MOST OF THE WORK
1. Must be the sole cause of the release

2. Responsible party must have exercised due care w/regard to hazardous substnace AND taken precautions against foreseeable acts or omissions of third parties.
3. If a third party caused only part of the harm, you wouldn’t have a defense.  “damages resulting therefrom were caused solely by…”

iv. So if you own some land, and one day you turn up and somebody randomly put hazardous waste on your property, are you responsible when the fedgov sends you an enormous bill for the release?  

1. The PRP carries the burden of the defense, so you’d have to know who had done it. 

2. Once you figure out that it’s Random Dude X, what do you have to do? You must have exercised due care when you discovered the substance.  Maybe this means consulting the government, etc. 

3. What about precautions against foreseeable acts?  Like if you’d found one barrel, thus it would be foreseeable that more dumping would occur. You’d be expected to take all reasonable precautions to avoid further dumping.  The first one wasn’t foreseeable, but subsequent ones probably were.  

4. Final hurdle:  Random Dude X actually has to be able to pay.  Because if you can’t establish the defense, you can bring a contribution action against the third party so long as he is solvent.  Even if you’re liable, you may be able to get it all in contribution.  

v. If you remove the stuff yourself, consistent with the NCP, then you can try to recover under § 107(a)(4)(B).  
vi. How do we know that the Δ carries the burden of asserting the defense?  
1. “caused solely by” in the defenses.  Burden is on the PRP to show that someone else caused the problem. 

a. If the burden was on the P, then the Δ would escape liability absent a showing of causation. 

b. But here the P didn’t have to show that the Δ caused the problem.  PRP shows causation to escape liability.  
j. The Superfund § 111(?)
i. Fund that the government has built up through various taxation schemes:  corporate taxes, general revenue, sector-specific taxes, etc. 

ii. Who should pay? 

1. General revenue—by everybody, basically

2. The industry where the problem is caused, regardless of the responsibility of individual firms

3. People who actually have a connection to the problem.  Pay via a liability regime.  

iii. Basically, the question is who you prefer.  Someone with some connection to the problem, or just general revenue.  Your connection is likely to be attenuated no matter what. 

iv. Superfund is very unpopular.  But Ricky likes it!  Focus on the unpopularity of the liability regime (since companies weren’t in the wrong at the time).  

1. In the end, there are a lot of contaminated sites and the alternative is to raise more money through taxes.  But taxes have to be voted on, whereas the liability regime is already in place.  Funds raised in liability actions, untraceable to a member’s vote.  
k. New York v. Shore Realty
i. Shore wanted an interpretation of § 107(a) that would exempt a current owner from liability.  Argued that bc (a)(2) limited liability to owners at the time of disposal, (a)(1) should as well.  

1. This is a pretty strained reading.  It would make (a)(1) irrelevant.  There is no way to make both provisions relevant and to accept Shore’s reading. 

ii. Current-owner liability means that before accepting gifts of or purchasing property, institutions and companies conduct environmental assessments.  
l. Lender liability § 101(20)(E)
i. Pre-1996, banks were liable post-foreclosure and at any point pre-foreclosure when they become heavily involved in operation of the mortgaged asset. 

ii. 1996 Amendments.  Owner means:

1. Somebody who owns a thing. 

2. Not a unit of government who ends up with title to a thing via foreclosure. 

3. Not a person who, without participating in the management or ownership, holds indicia of ownership as a security. 

a. Problem:  how do you interpret “without participating in the management of the investment or facility”?  Is monitoring participation?  

4. § 101(20)(E)(ii): you’re not an owner or operator if you didn’t participate in management prior to foreclosure and you seek sale posthaste.  

a. But nobody’s going to want to buy this, so what should you do?  Advertise it every six months or something?  But you can’t misrepresent the nature of the property either.  

5. § 101(20)(F):  defines participation in amangement.  Must be actual participation, not an unexercised right to do so.  Providing financial counseling in an attempt to avoid default or diminution in value of the facility is exempted.  

iii. Why give banks such a good deal? 

1. Don’t want to reduce the availability of credit too far.  

2. But then why not exempt banks all the way?  Don’t want to let them go ahead operating a polluting site.  

a. Want to create some incentive for the bank to inspect land before they extend credit.  Bank is a repeat player, and thus can probably do this more cheaply and effectively than a small company that may rarely do this sort of thing.  

b. Their security interest will be worth nothing if the property becomes a superfund site.  Though if it’s then cleaned up by the govt, they get a windfall.  

3. Ricky thinks liability at foreclosure was actually a good idea.  Prior to foreclosure, some liability (because of potential scams).    
iv. US v. Aceto Chemical Corp
1. US attempting to recover from agricultural companies that send chemicals to Aidex to be made into pesticides.  Aidex a formulator. Argument is that though Aidex formulated the pesticides, Aidex and the other companies owned the chemicals and the finished pesticides throughout.  Argued that because waste creation was a necessary incidental effect of pesticide formulation, that Aceto and other companies had therefore “arranged for” disposal. 

2. How does it serve the purposes of the statute to go after Aceto etc.?  You’re going to get Aidex anyway. 

a. Maybe if Aceto is exposed to liability, this will create an incentive for the company to choose the formulator that is most likely to be careful with regard to its disposal practices. 

b. Is the best thing to do to internalize the costs all along the supply chain? Do you want to create incentives for everyone to deal with the most responsible parties? 

c. Lets you bring more solvency into the liability regime.

3. Why not do this? 

a. The holding of this case depends on formal ownership.  If that’s the full basis, then companies will transfer ownership prior to and after formulation.  If it was the sale of a hazardous waste (which has no value), then the court’s probably going to see that as a sham.  But if there’s actually a useful product, then the distinction does seem to turn on who has title to the substance. 

4. What about individuals?  What about when you take your suits to the try cleaner?

a. Most individuals throw out hazardous substances in their household garbage. 

b. PRPs:  willing to press suits against small towns and municipalities because they know that municipalities going out of business will provoke a backlash in Congress.  So they oppose reform that will protect these entities.  

i. Govt. tries not to sue “small attractive parties” but PRPs will bring them in via contribution actions. 
m. Land-buyer liability:  the “innocent landowner” defense
i. Is a contract for the sale of land a contract for superfund purposes?

1. It matters because of § 107(b)(3)—the third-party defense.  If you want to say that the problem was caused solely by the seller of the land, it matters if a contract for the sale of land creates a contractual relationship. 

2. The defense:  § 101(35):  Contractual relationship includes “land contracts, deeds, easements, leases…unless the real property on which the facility is concerned is located was acquired by the defendant after the disposal or placement of the hazardous substance…and one or more of the circumstances below is also established.”

i. defedant didn’t know and had no reason to know

ii. defendant is a government and got the land involuntarily

iii. defendant acquired the land by inheritance or bequest.

b. So if disposal continued after the contract, it’s a K for Superfund purposes.

3. So to establish the defense, what do you need?

a. The above, and then you have to go back to § 107(b)(3) and show that it was solely the responsibility of that party whose in a purchase relationship with. 

i. That you took action against foreseeable acts or omissions of the party (not really relevant here, bc you weren’t present when the acts or omissions took place)

ii. That you took due care (§ 107(b)(3)(b))

4. Courts call this the “innocent landowner” defense, but Ricky feels strongly about this bc it doesn’t really create a new defense—just redefines “contract”.  
5. Reason to know
a. § 101(35)(B):  all appropriate inquiries; took reasonable steps to stop any release or prevent a threatened release or exposure.  

i. (ii) Administrator to promulgate regs including criteria in (iii). 

ii. (iii)  Environmental assessment, interviews w/past owners, operators, etc.; reviews of historical sources/title docs, record searches, visual inspections, relationship of purchase price to uncontaminated value (did you get a suspiciously good deal?), commonly known or ascertainable information, degree of obviousness of the contamination.  Specialized knowledge of the defendant matters. 

b. Statute used to equate all appropriate inquiry with “customary standards”.  So you’d check the chain of title, do some visual inspection, etc.  
c. Pacific Hide & Fur a good case on this 

d. Westwood a good case on sellers asserting this defense

n. The Clean-Up Process
i. Site identification
1. No federal effort to go find the superfund sites.  They do have a database (CERCLIS), and things get onto that list via citizen reporting, state and local governments, etc.  About 36,000 sites.  
ii. Steps in the process
1. Preliminary Assessment/Site Investigation

2. HRS—if it’s high enough, goes on the NPL. 

3. Once it’s on the NPL, RI/FS

4. Then EPA creates the Record of Decision, which says what the remedial action will be.  Have to examine the alternatives, do public consultation, etc.  

5. RD/RA:  remedial design and remedial action.  

6. Takes a really long time (12-16 years)
iii. NPL v. non-NPL sites

1. NPL sites get the structured assessment, and superfund money can be used for remedial actions.  Superfund money can be used for removal actions in any case. 

2. Superfund money can be used for cleanups when there are not solvent parties. 

a. And to fund cleanups prior to cost recovery.  Use the Superfund money to get the case started, and then reimburse the fund post.  

3. There’s not a lot of money in the Superfund.  Government hasn’t appropriated much money, frex.  Has mostly stopped putting things on NPL, because not much is coming off.  Very few cleanups have actually been completed.  This is embarrassing for EPA. 
iv. Clean-up standards § 121

1. First, must be in accordance with the NCP

2. Permanent and significant reduction in the volume, toxicity, or mobility of the pollutant is preferred.  § 121(b)(1)
3. Relevant standards, § 121(d)(2):  cleanup must meet the “standards, requirements, criteria, or limitations” of other federal laws, ARARs. 

a. SDWA:  § 121(d)(2)(A)(ii) requires you to meet MCLGs under the SDWA.  However, caselaw (Ohio v. EPA, p. 69) tells us that if these are set at zero, you won’t have to meet them.  Under SDWA, the MCL is the enforceable standard, not the MCLG.  But here it’s “converted” into an enforceable standard.  EPA had decided that a zero-level MCLG is never “relevant and appropriate” because you can’t actually measure to zero. The Ohio v. EPA court said that EPA has discretion to make this call. Ricky thinks this is silly, since the MCLGs are never appropriate for drinking water anyway!

4. What’s the difference bw “applicable” and “relevant and appropriate”?

a. To be an ARAR, a thing must be promulgated, more stringent than the federal standard, and legally applicable and relevant and appropriate.  See § 121(d)(2)(A)(ii)
5. Cost-benefit and clean-up standards:  “The President shall select appropriate remedial actiosn…which provide for cost-effective response.  In evaluating the cost-effectiveness of proposed alternative remedial actions, the President shall take into account the total short- and long-term costs of such actiosn, including the costs of operation and maintenance for the entire period during which such activities will be required.”  § 121(a).  

a. However, cost-benefit doesn’t really come in where it would help the most:  you’d assume that we’d want to impose stricter standards in areas of greater population density, but ARARS are most likely to be waived in urban areas instead.  

b. Note that this is cost-effectiveness, but not really CBA.  No structural analysis requirements like the comparison factors in CWA, frex.  

o. Hamilton & Viscusi article, Land-Use Solutions
i. The principle risk being controlled by Superfund cleanups is the risk to future residential users.  Typically not even a risk to workers at a site if the site became a residential facility.  So why spend all of this money when we could control this via the land-use regime?  Deed restrictions, frex.  

1. How much can you count on land-use restrictions?  Love Canal example—ended up building a school on top of it.  
2. Informational issue—ensuring that future potential users will know that this was a Superfund site.  NCP requires a public hearing and the affected community.  But what happens 30 years later?  
ii. Think about the brownfields issue.  Industrial facilities have to locate somewhere.  Should we create incentives for industrial facilities to locate in greenfields or to go to sites that are already somewhat polluted, do some necessary cleanup, and preserve the greenfields for clean activities? 

iii. The Bona Fide Prospective Purchaser protection, § 101(40)
1. In the early days of Superfund, it was difficult to get industrial facilities to move into brownfields due to the threat of liability.  

2. EPA didn’t want to have an across-the-board policy, but they’d issue “comfort letters.”  However, comfort letters weren’t binding, and didn’t keep other people from suing them (other PRPs).  

a. For a long time, only the Chicago region did this.  

3. Bona fide prospective purchaser protection, § 101(40)

a. Purchasers who know about toxic materials present on the site, and who takes takes appropriate steps to control it is protected.
b. So why doesn’t everyone do this?  Because you do still incur response responsibilities (§ 101(40)(D).  More likely to be industrial operators who take this on.  

VIII. The National Environmental Policy Act
a. Generally
i. First of the “big” environmental statutes.  At the time, it was thought to be very important, but it hasn’t turned out to be such a big deal in retrospect. 

ii. § 101(a):  vast aspirational statement about how “man and nature can exist in productive harmony.”

1. You could imagine a world in which this was the only environmental law, but what ended up happening was that individual statutes were past. 

2. In other jurisdictions, however, NEPA-type statutes are the basis of all envtl. law

iii. § 101(b):  government to use “all practicable means” to achieve these goals.  Some stuff about “safe, healthful, productive, and aesthetically pleasing standards.”  

iv. The section that really matters:  § 102(2)(C).  Creates the EIS.  

1. Agency does the EIS. 
v. Inaction v. action under NEPA:  CEQ regs say that inaction = action, but Norton v. SUWA may have changed this—says it’s only action if it’s deliberate. 

vi. Federal action v. nonfederal action:  the “federal nexus”, which extends to permitting, licensing, etc. determines if something is federal action.  

b. Substantive v. Procedural Requirements:  Strycker’s Bay (1980)
i. Can a court overturn an agency’s EIS on substantive grounds?

1. No.  In Vermont Yankee, the court held that NEPA imposed procedural, not substantive requirements.  NEPA guarantees you a deliberate and well-considered decision, but not any particular substantive outcome. 

2. So even if an EIS found enormous impacts and minor benefits, is there no remedy?  APA A&C remedy only.  No NEPA remedy.  

ii. Marshall dissent:  thinks that this should have been weighed under A&C review. 

iii. So after Strycker’s Bay, does this have any impact? 

1. Requirement to do EISs changed cultural practices at agencies. 

2. Exposes environmental consequences to the light.  Creates political pressures.  

3. If the EIS is inadequate, then they can get sued on it.  The agency takes a risk, because the project will be enjoined if the EIS is procedurally inadequate.  Lots of delay involved. 

iv. State NEPAs:  many state statutes have substantive components. 
c. Cumulative Effects:  Thomas v. Peterson
i. Facts:  FS wanted to build a road and do some timber sales, but wanted to prepare the EISs separately.  Ps alleged that this violated NEPA because the “cumulative effects” of the projects required analysis in one EIS. 

ii. Court:  Agencies required by NEPA to consider the cumulative effects of a project.  

1. This means that in cases where two projects are “inextricably intertwined”, they must be evaluated in one EIS. 

a. In this case, the road is a necessary predicate to the timber sales.  The EA for the road rejected the no-action alternative because sans road, no sales.  

2. And if projects are not only interrelated in this way, but will produce synergistic environmental impacts, they must be considered. 

a. Several agencies believe this to be the case here.

iii. Court:  saying that the EA for the sales will weigh the cumulative impacts of the road and the sales is rediculous, because the road will already have been built in that case.  Once the road, the construction of which is only justified in the record by the timber sales, has been built, not doing the timber sales due to cumulative effects will produce an irrational result.  The only way a rational, well-considered result can be achieved here is by considering the cumulative impacts of both projects in one EIS. 

iv. CEQ regs:  cumulative effects analysis, connected actions requirements. 

1. What are connected actions?  40 C.F.R. § 1598.25(a)(1).  “automatically trigger other actions” “cannot or will not proceed unless other actions are taken previously or simultaneously” “are interdependent parts of a larger action and depend on the larger action for their justification”. 

2. Cumulative actions provision:  to stop you from breaking things up into pieces.  

3. What about Kleppe in light of these?  Maybe cumulative effects analysis.  
IX. The Endangered Species Act
a. Generally
i. Key provision for government:  § 7(a)(2).  “Each federal agency shall…insure that any action authorized, funded or carried out by such agency…is not likely to jeopardize the continued existence of any endangered psecies or threatened species or rsult in the destruction or adverse modification of habitat of such species which is determined…to bre critical.”  Jeopardy is the critical word. 

ii. Key provision for private actions:  § 9 (a)(1)(B).  The “take” provision.  

iii. These restrictions are triggered by listing.  Listing is covered in § 4.  Once a species is listed, the Secretary must designate its critical habitat.  Critical habitat is covered in § 4(a)(3)(A)(i).

1. So once something is designated critical habitat, damaging it is barred by § 7 even if no actual members of the species were harmed.  

2. Secretary hasn’t been that into critical habitat enforcement, but there is some litigation around that. 

iv. Broad conceptual question:  why protect animals only when they’re threatened?  Why not have broader protections for animals and plants in general?

1. Concerns about biological diversity come into play most strongly when numbers are dwindling.  

2. Maybe protection on the species level does more to preserve the system? 

3. Human-centered aspect:  usefulness of species, biological diversity as protection of agricultural stock, undiscovered use for animals.  
b. Exemptions:  TVA v. Hill
i. Tellico Dam case.  Dam was authorized prior to the passage of the ESA and was almost finished when the enforcement action was brought.  

1. Congress had continued to reauthorize funding for the Tellico dam despite its awareness of the ESA issues.  What’s the significance of this reauthorization?  Does that constitute implied repeal?  The court found that it didn’t.  Would it have made a difference what type of appropriation it was? Was Congress then authorizing this? Court almost seems to be saying that if they want to do this, they have to “own” it.  

2. Court seems to be looking at this as something that the statute actually explicitly contemplated. 

ii. Congress subsequently attached a rider to an appropriations bill to exempt this project from ESA protections.  Also created the Endangered Species Committee and the statutory exemptions.  

iii. Was stopping the dam actually a tragic waste of resources?  Sunk costs were high.  But what were the potential benefts?  And the cost of completion? Turns out that this wasn’t justified on CB terms even if you attach no value to the snail darter.  

iv. How does the statute trade off costs?  § 7(h)(1)(A)(ii)

1.  “the benefits of such action clearly outweigh the benefits of alternative courses of action consistent with conserving the species or its critical habitat and such action is in the public interest.”  So this appears to let you weigh the benefits of going ahead with the project and the benefits of the conservation action, but not the costs of either.  Benefits of building the dam v. benefits of preserving the snail darter.  

2. Do you have to assign an economic value to the snail darter?  
c. Distinct Population Segment Policy:  National Association of Home Builders v. Norton
i. Pygmy owl DPS case.  

1. Under DPS, FWS had designated the AZ population of these owls as different from the Mexico population of the owls.  Mexico population was in good shape, but AZ population wasn’t (there’s also an eastern population).  

ii. Why were NMFS and FWS responsible for developing the DPS policy? 

1. Authority delegated to the Secretary of the Interior and the Secretary of Commerce. § 3(15).  Interior gets things on land, Commerce gets things on the ocean. 

iii. What qualifies a sub-group under DPS?

1. Must be discrete in relations to the remainder of the species

2. Must be significant to the species to which it belongs

iv. Court found that the population was discrete, but that it was not genetically different, and therefore not significant, to its taxon as a whole.  The taxon as a whole includes the Mexican population.  

1. What about the international border issue?  p. 6—differences in conservation status…that is significant in light of section 4(a)(1)(D) of the Act.”  This is about discreteness, however, not about significance.  You still have to be significant.  

2. Basically, if something is abundant across international borders, and therefore not significant, it doesn’t matter if it’s not well conserved there.  Once it becomes endangered there, it still might not be a subspecies here, but you won’t need to designate it as a subspecies in order to protect it.  

v. Note that if an entire species is endangered in the US, we protect it even if it’s abundant elsewhere.  

vi. Ecosystem v. species question again—if it’s about ecosystem protection, then we don’t care if they’re abundant elsewhere. 
d. The Consultation Process

i. Agency asks FWS about the presence of endangered species. 
ii. If so, then the agency prepares a biological assessment (can be part of an EIS).  Under § 11, this can be challenged.
iii. If the agency finds that this will be “likely” to affect a threatened or endangered species, they ask FWS for a BiOp.  
1. If FWS finds jeopardy, the project can’t go forward unless an alternative that avoids jeopardy is proposed.  
2. Jeopardy:  50 C.F.R. § 402.02, p. X-62,  “an action that reasonably would be expected, directly or indirectly, to reduce appreciably the likelihood of both the survival and recovery of a listed species in the wide by reducing the reproduction,numbers, or distribution of that species.”  
iv. Why the back-and-forth?  Balancing different types of knowledge (species v. project) and balancing efficiency.  
v. Differences b/w ESA and NEPA

1. Interjection of a specialized agency
2. Substantive component
e. Obligation to conserve, § 7(a)(1)

i. Pyramid Lake Piute Tribe v. U.S. Navy
1. Obligation to “carry out programs for the conservation of endangered species and threatened species.”  
2. Why wasn’t this challenged under 7(a)(2)?  Why isn’t this a jeopardy case?  No jeopardy, because the additional diversions won’t do much. So the question revolves on the requirement to conserve.
ii. Court:  the Navy has a degree of discretion to determine how it will fulfill that responsibility.  
1. Does this section do any work after this?  It’s not really clear to me.  It looks like discretion is unbounded in this case.  Though the court does reject the “primary mission” formulation.  
2. Ricky:  this hasn’t been a very important avenue of litigation.  You can see why—judges don’t want to get involved in compelling an agency to take all actions that it possibly can that are consistent with its authorities.  
iii. Private taking

1. Babbitt v. Sweet Home Chapter of Communitites for a Great Oregon

a. Turns on the interpretation of “take”, specifically “harm.” Harm is not defined in the statute, but the regs define it as “an act which actually kills or injures wildlife…may include significant habitate modification or degradation where it actually kills or injures wildlife by significantly impairing essential behavioral pattens, including breeding, feeding, or sheltering.” 
i. So you actually have to kill or injure something for it to trigger the protections. Say you destroy the bird’s nest—does this count as injury? 
b. Why doesn’t Chevron come in here?  Scalia thinks this is clear.  Stevens could probably do more.
c. Stevens’ basic position:  not all of the words here are about direct injury.  Dictionary definition of “harm”.  Interpreting harm not to include indirect harm renders the word surplussage—no additional value over the other words in the definition of take. 
i. Connection bw § 10 and § 9:  § 10 is the incidental take provision, allows permits for takings described in § 9 if they are “incidental” to another important action.  Has to be incidental to, not the purpose of, an otherwise lawful activity.  
ii. Scalia goes with noscitur—these are active words, not passive, indirect words.  The incidental take provision (paragraph edited out) he reads to cover active actions that harm endangered animals but that are nonetheless essential to a lawful activity.  
iii. [Does the statute compel an interpretation either way?  I don’t think that it does.]
d. O’Connor concur:  doesn’t think that impaired breeding, on its own, constitutes harm. 
e. Regulations:  how tenuous can the causal link be? 
i. O’Connor wanted a proximate cause relationship
2. Habitat conservation plans

a. NWF v. Norton

i. Habitat conservation plans req’d by § 10(a)(2)(A), which describes the plan requirements.
ii. Typically these involve some level of land-swap mitigation—we’ll conserve this and manage it specially.  Basically a form of offset.  The big issue usually ends up being equivalence.  Is 1:1 replacement enough?  No, qualitative issues.  
iii. In this case, plan was for conservation of two species, involve offsets of lands managed for conservation.  Replacement ratio below 1:1 (for snake .75:1, for hawk ratio wasn’t so good—net loss of 6,000 acres).  FWS had approved a .5:1 ratio.  Argument was that the land was better.  
iv. Why not require 1:1 replacement?  Economic balancing, for one.  
b. It’s easy to put these requirements on the government, in large part because it’s such a large land manager.  But the situation is tougher for private landowners, because they don’t have the resources.  
i. Regulatory taking:  have to take all or almost all of the value.  
ii. Large concern about political reaction to this.  
iii. Habitat conservation plan, in Ricky’s opinion, exists to mitigate repeal pressure.  
iv. Existence of large public lands leads to a lot of this pressure—why not take care of this on your own land?  Leave us alone!  Should govt. make an effort to define critical habitat as being on public lands?    
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